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1. Assertion (A): Vice-president cannot vote for a bill in Rajya Sabha.
Reason (R):  Vice-president is not a member of Rajya Sabha.
a. Both (A), (R) are correct and (R) is the correct explanation of (A)
b. Both (A) and (R) are correct and (R) is not the correct explanation of (A)
c. (A) is true, but (R) is false.
d. (A) is false, but (R) is true
e. Answer not known
gBml (A): LOMHl6VMISB6TTENEULT60 gL L LwCaTHTa 60T Ol HenL OILImILD
UTHOBGBLLID HewewT GWTFHSH HmevauJmed ChruiTe amdbdeldd SuleuTgl.
asmyenid (R):  siemewi@uuygid HemevauT OTHeORISTeNaIUTET © BT &i606V.
a. (A) ovsmb (R) @yewiGd gfl Guwsuid (R), (A) alBg sflwrer alendson@lb.
b. (A) wBpd (R) Syewii M epemed (R), (A) alBe gflurer alendsiosvev.
c. (A)afl, spemmed (R) seoumi
d. (A) sam, syemmed (R) o
e. alewL OFflwealedenev

2. Consider the following statements regarding the Governor:

1. Governor of a state is appointed by the president of India; according to
the constitution.

2. Original constitution of India provides for the appointment of the
same person as governor for two or more states.

Which of the above statement is/are correct?

a.1lonly b. 2 only c. Both1and 2

d. Neither 1 nor 2 e. Answer not known

LEHHT GBHS LleiTeU(hlD FnBmISmen SLUIS.

1. opdweosmwliier Ly @ WIHeY SLEHBT SbHHUls GYUTSHSH SHEMEVEUTTED
B SSLILIBGSIMITT.

2. Qrewip SlLeVdH DSBE CoBulL  THlevmsehdE RHUCT  SLEHBITS
SmlusBsTear  FIHSHIBET  @bsHlwuraldr g0  HFslwevampllGaGu

9 _6I6NG).
GuBamn gappiseiey gflwimears /el 61gl/ emeu?
a. 1 1o’ B b. 2 wl G c. 1 Bmub 2 @yewi(hid

d. 1 oBmib 2 @yesi(HLev6ev e. alewL Oz fwalsdemnev
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3. As per the Indian constitution, which of the following statements are
correct?
1. The president tenders his resignation to Chief justice of India.
2. The Vice-President tenders his resignation to the president of India.
3. A judge of supreme court can resign his office by providing a
handwritten letter addressed to the Chief justice of India.
a.1lonly b.1and 2 only c. 2 only

d. 2 and 3 only e. Answer not known

Ahaw yduweosnoliley, Lleaeumd gaBupiseied Fflwmearenel seneu?

. GuwIssd SHmevalT SHHIGH LDl alevded HYHHmH BHIHUW  HEDEVEMLD
BHHUSUWIL LD @LIenL LILITT.

2. Fwewid GRUWTEF SHMEVAT HIH LSl alevded HYHHmD (GHQUITHS
HemevalflL 1D gUILIGHL LILMT.

3. 2 FapFHoaip BHHUSH uHal alevd HenarHHTe, Heemed MSLILL  61(pSHw
upal alevded HBHHMH GhHU  HWeuD BHAUHUILD  FOTUNHS
Bouemr(BLD.

a.1l w G b.1 wBmib 2 wl G C. 2 L (b

d.2 wspb 3w @G e. alewL Ozflwalevenso

4. Consider the following statements

1. President’s rule can be declared only on the report of Governor.

2. President’s rule can be continued beyond 3 years only if the emergency
under article 352 is in operation or the election commission certifies that
there are difficulties in conducting the elections.

a. 1is correct b. 2 is correct c. Both are correct

d. Both are wrong e. Answer not known

LNeiTeU(HLD SnBMIBem6T SLITUIS

1. ouenbllear  opdmaulear  GBufGw W GEL GrWIssHHmevalT S Fenul

Siflalsbes (IQULD.

2. g15& 352a1 B Cxpdlw OBHHSIYHMeL HML (LPewBUled EHHHTEET DIeL6VSI

GxiTHe0

gfamga)wmm slLwaBsh BHTaHmen BLHS 2 &HSH GO E6e0en60 616N

greipelsaTCeor WL GO 3 SuewienL. HTWIQUILD GQUITSHSHHMEVUT Sl Flenuis

OBHTLT (igujd
a. 1 g b. 2 & Cc. ®yewi(d &l
d. @rewiG Heuml e. alomL Gxfuwelsoenew

5. Consider the following statements
1. For the first time president’s rule was imposed in Punjab in 1951.
2. SR Bommai case, 1995 is related to president’s rule
a.1is correct b. 2 is correct c. Both are correct

d. Both are wrong e. Answer not known

LNeiTeU(HLD SnBMIB6N6NT DLTTUISH

1. et (wpepwtd 1951 60 ueEhamLied memmdHug] S dl DIDeOLIGSHBUILIL L Sl
2. SR Gumbedd aUPdHG 1995 GHRWIHSH SHMevauT S & CHTLTUTEIS
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a. 1 g b. 2 & Cc. ®yewi(d g
d. @rewiG Heum e. alenL GxMuwelsvanew

6. Consider the following statements
1. Article 360 authorises the president to declare financial emergency.
2. Salaries and allowances of any class of persons including the Judges of
supreme court can be reduced.
3. This type of emergency has not been declared so far in India.
4. Article 361 deals with canons of financial propriety.
a.l and 2 are correct b.1, 2 and 3 are correct c.2 and 3 are correct
d. All are correct e. Answer not known
LNeTeu(BLD SnBmISemneN SLITUIS
1. a75a 360 [mHFH OHMHEBHY Hevevenw! SNaldbs  (GHQUITHSHHM6LHDBE
1P MWl SS B
2. 2 FFHASIB BHHUHNBET 2 UL  6hdH HUTHeMT FbLU6TD BBID BT
LIQ&H6m6NT (GHMB&HS  (LPIQULD
3. @bHwmaled Dy DbHFH UMBWTET DUFTHM60 DNSlalSbSLILIL a606Mm60
4. agrsal 361 mHgl o Memwuler Hluglesmen UBBIL SBISBE
a. 1, 2 & b. 1, 2, 3 & c. 2, 3 &l
d. smarssip g e. aloL Oxfuwaledenso

7. Consider the following statements
1. The central government is the supreme government in our country.
2. Articles 52 to 78 in part V of the Indian Constitution deals with Union

Executive.
a. 1 is correct b. 2 is correct c. Both are correct
d. Both are wrong e. Answer not known

LNeiTeU(HLD SnBMIGBem6T LTTUISH

l. LHFW HP&HSTET B BT QS 2 FFU T IS

2. @b SIFweoemlILlen LGS mbIHeL 52 (pHeO 78 euedTUNeOTe &FJSHHIH6NT
eamlw Fiteursd uBns GBILLIGSBS

a. 1 g b. 2 & Cc. ®yewid &l

d. 8rewiG Heuml e. alenL Gxfuwelsvened

8.  Consider the following statements
1. The Union Executive consists of the President of India, Vice President,
Council of Ministers headed by the Prime Minister and Attorney

General.
2. The legislature is known as Parliament.
a.11is correct b. 2 is correct c. Both are correct
d. Both are wrong e. Answer not known

LNeiTeU(HLD SnBMmIBem6T LTTUISH

. wHHW EHireunsd eaiLgd @hIHU  GRUIFSHHMEVAT, HMEWH GQUTHSH
HENEVAT, SDIMLOFFTEN6UDHEH (LD, LNy SLOIT LBBIL  @hsHw HENEVENLD
QUPSHBBEHED] 2L WIG).

2. HFHw FULLUGUTME! BTLTEHLOGIBLD 6160 SHeMPSHBLILBHBS
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10.

11.

a. 1 g b. 2 & Cc. ®yewid &l
d. @rewiG Heum e. alenL GxMuwelsvanew

Consider the following statements

1. President is the de facto head.

2. President is the first among equals.

3. According to article 52, the executive power of the Union shall be vested
in the president.

a.1, 2 are correct b.1, 3 are correct c. All are correct

d. All are wrong e. Answer not known

LNeTeU(HLD SnBMIBm6T SLTTUISH

1. GQUWISHSHHMEVGUT [BTLIQET 2 GITENLOUITET  FHED6VGUIT

2. GRUWTSFHSHMEVT FLOLDTEIUTHETED  (LPSHESTENLOWITEIEUT

3. g76&  S2&1  uUg, M el Hiurs SIHSTIRIS6T,  GQUTHSH
HemevauflL D @LiLienL &aLILIL (HeiTereT.

a. 1,2 &M b. 1,3 & C. OIMATGHHID gl
d. smaisHsHIDd Haiml e. aloL Osfwaledemed
Match the following
A. Rashtrapati Bhavan 1. New Delhi
B. The Retreat building 2. Hyderabad
C. Rashtrapati Nilayam 3. Shimla
A B C

a. il 3 2

b. 1 2 3

C. 2 1 3

d. 2 3 1

e. Answer not known

CUTHSHHIB

A. gmedrug) Leles 1. Usigeved

B. fifl sligLib 2. MABSHITUTS

C. gredgyugd mlensowid 3. adlibeor

A B C

a 1 3 2

b. 1 2 3

C. 2 1 3

d 2 3 1

e. alewL Oz flwalsvensv

Consider the following statements

1. President is elected by an electoral college in accordance with first past
the post system.

2. The electoral college consists of elected members of the NCT of Delhi
and Puducherry.
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12.

13.

14.

a. 1 is correct b. 2 is correct c. Both are correct

d. Both are wrong e. Answer not known

LeiTeU(HLD SnBMmIGemen SLITUIS

. GWISHS HMeaUT (LP&Helled Hlenevenuld &LbHFH ClFevad GHTaHe0 (LpemmLILIY
QUTSHSTENT GH(PLSHHTeL BHTHOHHSHSILBSIBTT.

2. aurdament G eaug CHFw HmevbBT GLevel ommId UHFCa et
BxMHOHBHBILL L. 2 mIITeTTHenen 2 6iTeNL &g,

a. 1 o b. 2 & Cc. @yewi &M

d. BB Heuml e. alewL Gafuwealsvenso

Consider the following statements

1. Article 77 requires that every executive action of the Union shall be taken
in the name of President.

2. President is responsible for making a wide variety of appointments.

a. 1is correct b. 2 is correct c. Both are correct

d. Both are wrong e. Answer not known

LN6TeU(HLD SnBEIBM6T HLTTUISH

1. g56a 7761 Uy WwHAW DFFler @alCeumm HiTeUTd HLUQHMBUID GHlQUITES
FemevauT GLIWMGBW GumbsmeteniiuL Geuemr(BHLd

2. uevCBeuml GUENBWITET HIULILDTHRISEN6NTSH GHQUITHSHHeme06UT GLomoIETeTdSmmT

a. 1 g b. 2 & C. ®yewiB o

d. 8rewiG Heuml e. alewL Gxfuiaisvenev

The office of the Directorate of Public Grievances is situated in the
a. Prime Minister’s Office

b. Cabinet Secretariat

c. Ministry of Personnel and Public Grievances

d. Central Vigilance Commission

e. Answer not known

QUTE &6 GmBSH ST BUISSGHHISLD DIHLHSIETT G Lb
a. Lysof  9IeeUeusLd

b. smwFsTemen GFULIEVSHLD

C. UemwmenT LOBMID OUTHILSSEET GHMBS ST DINOFSHLD
d. AW eEhd RO SEMeTULID

e. alewL Gxflwalsdenev

Consider the following statements about the Attorney General of India:

1. He is appointed by the president of India.

2. He must have the same qualification on par with the judge of the
Supreme Court.

3. He must be a member of the either house of parliament.

4. He can be removed by impeachment of the parliament.

Which of the statements given above are correct?

a.1and 2 only b.1 and 3 only c.2,3 and 4 only

d. 3 and 4 only e. Answer not known
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15.

16.

17.

@Lrggﬁu_l HENEVEMLD emggasasﬁ@mgu uBpl  etTeu(hHaueTauBenBd HHHHev CFTeiTs
BalT AhHWS GHQUITFHSH HEN6LAUTT6L HUILDSHILBEIBTT
2. ® FF pHWAB HHIUHNSGHSH CHewaulluB 6FH HHHH6ET BeUHBHESHLD

o fluemel
3. ®auT BHILTEHLAIBSIH60 goHTaud @ Swauulled o minlenrs Smes
Gouemt(BHLD
4. UMIT@HLOIIMBID cpeold BeuT LGHe HHHD OQFUILILILL 60D
a. 1 Bmib 2 wl@w b. 1 wBmbd 3 w' G C. 2, 3 wBE@Id 4 W [BHD
d. 3 @b 4 w' GD e. alenL GxMuwelsvanew

Which of the following sessions of Parliament is / are incorrect?
a. Budget session : February to May

b. Monsoon session : July to September

c. Winter session : November to January

d. Winter session : November to December

e. Answer not known

SDHBEWIL  [BTLTEHLOEBE dnl LS OFHTLTH6MN60 615/ eTenal Haupmerenel?
a. auge-GFevads gnl L g OHTLT (Liyeuf (pHed GO aleny)

b. mPpsHBTe0E Fnl LS GHTLT (8376m60 (pH6e0 GFLILLDLIT)

C. GoliTEmend gal (bdh OHTLT (BeubuT (PpHed gyemeull eueny)

d. @eaiiamend gal B OHTLT (HEUDUT (1PH6D I9FIDUIT aleD])

e. alewL Gz fweailsbenev

The authority to alter the boundaries of the States in India rests with

a. The President b. The Prime Minister  c. State Government

d. Parliament e. Answer not known

@ObHFHW  OTHEVRIBETET  6160MEVHMENT  LOTHBILINOSGHD  DIFH STILD &L b
©_GlTeNg|.

a. GRWIGS HENEVEUT b. Mysw Semwss C. LOTHI6V SIJFSFTHISGLD

C. [BTLT@HLOGIBLD e. alewL Oz flwalsvensv

Which of the following statements is/ are true about the Council of

Ministers and the Cabinet?

(i) A Cabinet is the head of one or more departments

(ii) The Ministers meet jointly and frame the policies of the Government

(iif) Ministers of State and Deputy Ministers do not have a share in the

formation of Government policies

a. (i) and (ii) only b. (iii) only c. (ii) and (iii) only

d. (i), (ii) and (iii) e. Answer not known

SImFFTHeT  GHLW BB GCasulel. OummiHHaumy &6 OETHSSBLILIL (HeiTen

TS WBIBTe0 61k / elemau Fiuimerg?

. @@ GCaUelll omFsFT @aIp SeLevd DSBEG GBULL  Himmserier
SHEDEVGUT
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18.

19.

ii. IO FTH6IT Fal LT GFbal ST FTBISH B 60T OB TeiTemBHEMEN

©_(HeUTH(&HIMTTH6IT

iii. opsmhesHHar  CFBTeTmHHMET 2 _(HaUTHGHAIHED HmeLeID (BTTEQTHIS)
SIMFSFT OBEWID LTS (HIGH6wT) DIMDFFTHEHHESG LM SHenLWimgl

a. (i) wbpb (i) L B b. (iii) wi G0 c. (ii) @b (iii) o’ Bib

d. (i), (ii) wpmpw (iii) e. allewL Gz flwealsdensv

Consider the following function of the process of the Parliament and choose

the correct answer:

1. Money Bill represents the will of the people

2. Delegated legislation is not subject to review of Parliament

3. Power of Amending the provision of the constitution rests with the
Parliament

4. The Parliament can assume legislative power exclusively referred for the
state subject

a.1and 2 only b. 2 and 3 only c.4and 1 only

d. 3 and 4 only e. Answer not known

UTTTEHLOBIBHH T SHDHEHWIL.  Liewldenend  HHHIS, Flwmer el enuid
CSg;ng)@g,(B&&,mm

uewl LDGFTHT LDSHE6IT aﬂ@uug,emg) dgﬁﬂﬁ@@]ﬁuuu@@@aﬂm@]

2. UUallLF LD UTITEHLONIB 1Bl SLUIEE 2 L LLL S D606V

3. gFmwlILs  FLL 2 pliysmendh  HHHSD  GFud  SIHETTHMmBL
LIMTT@HLOGTBLD GBI 6w (HEB S BS.

4. UMIT@BLOEIMBID,  LOTHIEVRIBEHHGTW  FULIOWBBILD  6T60MeLHGH6T  B(HBHGLD
SNPBM S 165 FLLD SWIBB (PIgUuiD

a.1 wBpLd 2 wEb b.2 wBmid 3w @G C.4 wBmib 1 WG

d.3 wBmd 4 B e. allewL g flwalevemnso

Consider the following statements, and choose the incorrect answer:

A. The president is a constituent part of the parliament.

B. He may sit (or) participate in the discussion in either of the two houses.

C. The president cannot promulgate ordinance having the same effort and
effect on the law passed by the parliament.

D. When both the houses of parliament are not in session, the president can
promulgate ordinance.

a. (B) and (C) only b. (C) and (D) only c. (A) and (C) only

d. (A) and (D) only e. Answer not known

SPHBHMIL  FBBISHMENS SHHHAID, SHEUBTET SnBNBISmM6TdH H6wILNlsb:

A. GYwrs HMeveUT LIMITEHLOSBSHIET QT DIBISLD SLEUTT.

B. ©um  @yewi(h UMITEHOEB  Simeuseled  DIOJEOTD (&)  eleuTHHHe0
LIBIO\s H & &H60MLD.

C. umgmeposiBd QuIBBId FULmiseT Gumen (wwBd Bpid aiFfFed Glpuwrs
HENGLVGU(HLD SIGUFT FLLMIG6T SUIBM (LPIQUITSHI.

D. urgmenpoamssdHear Qrenih DieaudbEnld SiwTalled Be0euTdh LTINS  GHQUITE:
HENGLVAUT DIEUFT FLULID SUIBM (PIQUITSHI.
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20.

21.

a. (B) oppio (C) ww  b. (C) wppidb (D) wiGw c. (A) wpmw (C) w6
d. (A) wppd (D) wEh e ol QHflwaledemev

Arrange the following Presidents of India in chronological order.
1. K.R. Narayanan

2. Dr. AP.J. Abdul Kalam

3. Dr. Shankar Dayal Sharma

4. R. Venkataraman

a.2,4,1,3 b.3,2.1,4 c.4,3,1,2

d.1,3,4,2 e. Answer not known

HT60 gL UTeDL euflenFLILIHSHSHIH6L.

LNevTeu(hHLD SR GUTT LIS S 66T SI6TH 61T 60T LIS BT6V SlgliLienL_uiled
auflema LB SHHIS.

1. K.R. prgmuiesrest

2. Dr. AP]J. o1i®i60 &evmid

3. Dr. shsigwmer &om

4. R. QeumisL [Jrioest

a.2,4,1,3 b.3,2.1,4 c.4,3,1,2
d.1,3,4,2 e. allewL OFflwaledemnsv

Consider the following statement about the instruments of Direct

Democracy

1. Referendum - a proposed legislation is referred to the electorate

2. Initiative - obtains the opinion of the people on issues of public
importance

3. Recall - Voters can Remove a representative before the expiry of his
term

4. Plebiscite - people can propose a bill to the legislature for enactment.

Which among the statements is/are incorrect?

a.2and 4 b.1and 4 c.2and 3

d.1land 3 e. Answer not known

GBIy MWSBBTLSSHH FnBIH6T LUBBIL SnBBISmen LIS

l. BHSHBHGHEMIIL] - UTSHBTENTHENMTED @(H (PeTOTHWLILL L FULLID 6IaLmSHDH
GBI HSBSI.

2. 10&&6IT HHHSH (WPeTalge] - QuTak (PéHHwHHe LFFFenaisened L0Sa6r 6ot
BHHHMSL GBI

3. FmU DIMLPSHH60 - BaMposhssiul L UIFHHaHsen  SleuTseg
USHONSSTEVLD (LPIQUILD (LEDTL] GUTEHSTOTTHENTe0 HHdH EUIGVILD.

4. QuUTEHIUTHOBBLILY - FULSBSH6O @ WEFTHTmar HBledBCauBBIUHBE
DB (LeTOILDTLHUIGUTLD.

a. 2 wmpib 4 b. 1 wBmib 4 c. 2 wBmib 3

d. 1 wBmib 3 e. allenL  QFHflwalsdensv
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22.

23.

24.

25.

Who told “Political Democracy cannot last unless there lies at the base of it
Social Democracy”?

a. Jawaharlal Nehru b. Mahatma Gandhi c. B.R. Ambedkar

d. Supreme Court of India e. Answer not known

“Fepsd OIBHTUIS SlgliLienL_uiled ® (HOUTHTH SIFFluied SO GIBTULISLD
BMeLSHH([HBS (LPIQUITSHI” 6T6eTLGI WTHDL W FaBmi?

a. Meauamiteored Gh(H b. w&rHIOT BHHS) c. B.R. ouoGusasit

d. @pFHw o FapHoap  e. el QFflwalsdenso

In the context of India, which of the following principles is / are implied
institutionally in the parliamentary government?

1. Members of Cabinet are Members of the Parliament

2. Ministers hold the office till they enjoy confidence in the Parliament

3. Cabinet is headed by the Head of the State.

Select the correct answer using the codes given below.

a.1and 2 only b. 3 only c.2and 3 only

d.1,2and 3 e. Answer not known

@bHwreneul  QUTBIHS  6uenJ  BTLAEHOSB  SFTLduled  SpHBTEmID
Camur@seaied g LeuBprubGaipg?

1. SIMWFFTNT 2 MILILTOTTH6T DIeVTeU(HLD BTLTEHLOGIB 2 MILILTeTH6T LA
2. BILTEHLOAIBSSH T BIOLSHMS BlodH@GHD U] DIMFFTHeT UFHal eusIILIT

3. OIMLFFTNE! DTFT HENGVATTEL HENELEMLD HTHISLILIBHBIBSI.

SpdbHeniL GUlamenl LwWebGsHd Fhlwmer almLemwsd CahosHM.

a.1,2 wl @b b.3 w’ @B c.2 wmpid 3wl B
d.1,23 e. alowL OHflwalevemsv

Who decides the disputes regarding the election of the Vice-President?
a. The Chief Justice of India b. The Parliament

c. The President d. The Supreme Court

e. Answer not known

GLYWIsHS FlmemsHmevalfler CHTHe0 OFHTLTUTS WMT (PYe| CFUISBITH6N?
a. 2 FFHAIGH HMeVeLD HEH LI b. BITLTEHLOGIBID

C. BYWITFiSHSHMeVAT d. o Fapdwesid

e. alowL G flwalsdensv

The members of the Council of Ministers are collectively responsible to
a. the Lok Sabha b. the Rajya Sabha

c. both Lok Sabha and Rajya Sabha

d. Lok Sabha, Rajya Sabha and the President

e. Answer not known

SimwFsTmaluier o mIlilaTser 6mi@ SalLms GUTmICUBESBITSEIT?

a. L&HEHETEn6 b. wrBlevriseTeney

C. ID&&BENENE LOBEBID  LOTHIEUBISENEN

d. wosenenel, WOTHEVRIGHETENE LOBEBID (GHQUITEHSHHEDEVCUT

e. alewL Gxflwailsbenev
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26.

27.

28.

29.

Choose the correct matches

1.Art 371 - Provision with respect to the states of Maharashtra and Gujarat
2.Art 371 A - Provision with respect to the state of Nagaland

3.Art 371 D - Provision with respect to the state of Andhra Pradesh

4.Art 371 H - Provision with respect to the state of Tamil Nadu

a. 2 and 4 are correct b. 2,3 and 4 are correct c.1 and 4 are correct
d. 1,2 and 3 are correct e. Answer not known

FULID OamLitumer gflwmer QUThSShISmen BxiTe CFUiweaw.

1. alg 371 - LOABTITARQTLD LOBEILD &I LOTHI6VRIS6T OHTLTUTETSI
alg 371 A- BISTEVHSH LOMHEVD QBT TLITEIS]

alg 371 D- oHHTITCHF omHlevd GGHTLTUTEIZ

alg 371 H- SWOIDHTH OTHeVD OSHTLTUTETS

2 wBEpIb 4 sfwmerene b. 2,3 wBmid 4 sFwTeTene

1 oBpid 4 gilwmereney d. 1, 2 wBmd 3 sfwmerene

alemL  OFflwalsensy

® 0P AW

Who said, Delegated legislation and administrative tribunals are the
manifestation of ‘New despotism”?

a. John E. Kersell b. Sir Cecil Carr c. Lord Heward
d. D.L. Hewit e. Answer not known

FLLOWBBILD — SIFSTT  e@uuenL b,  Hifeurss — STUUTWRISEHD  “YsHlw
graunganedHer OeuefuuT® oerd gnpluwleul wmi?

a. gretr E QaT6ged b. gr. 60 @it c. oot anfleurii(®
d.D.L. anflefi e. alenL GFHfwalsdensv

Who appoints the member and chairman of the central Information
commission?

a. President alone can appoint

b. Chief Justice of supreme court of India

c. Committee under the leadership of prime Minister

d. Home minster of the country

e. Answer not known

LHHU  HBEUL LIS HET  HemevauT OBMILD 2 It TenTHenen  BHuIOIg
wiir?

a. Gwyadh Seval LB Buwildsend b, 2 FFBPHSB Hmevann BHUS
c. Upsofler S 2 e6en SiemioliL] d. o egHiemm SIMDFFT

e. allewL  Gaflualsvensv

Chapter V of Part V of the constitution provides for a high officer of the
Parliament who would exercise vigilance over the expenditure of public
money. Heis .

a. Comptroller and Audit General of India b. Finance Minister

c. Auditor General d. Prime Minister

e. Answer not known
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30.

31.

oppFwed gmFer UGFH V-1 V-b oHwmud  wssefler (QUTH)  LeniHms
HEWIBTeWNHB  [HTLTEHLOMATBHH I e(H o Wi DHSMfenul HUeTDd GCFUISBE.
ST ST

a. BhHU HMLMID HWNHMS WOBMBID HEWISBTENMT b, HFH SiewFa

C. SHEN6VENLD FH6u0TeemHWITENIT d. Myswo whHHM

e. alewL OHfwalsoenso

Consider the following Statements:

L The concept “executive power” is defined in the Constitution

II.  The executive power of the president is co - extensive with that of the
legislature powers of the Union

III. The “Executive Power” also includes determination of the
Government Policy

IV.  To be elected to the office of the President a person must be registered
as a voter in the Parliamentary Constituency.

Choose the correct answer:

a.Iand II only b. IT and III only c. IIT only

d.Iand IV only e. Answer not known

gflwmer ammpisenen GHiTs.

L. “Qaweurt_gl T T Qs H(HHSBI ST FUIG0ELOLILITED

UM WIMISSLILIL_ (HeITeNS).

II. Ghwrs  Hemeveuflear  OFweor d  oFSTID  WHHUW  LTTTEHLOGTS
DBHETMTHSHIHEG Denent el Sienaled CFUBLGESILILILS SnlgUISTELD.

III. “Qweor’d oIFSMTD” 6SLUSH DPFTHS OBTeTenHMUI  HTIDTENHEGLD
SIHBTMTHMSUID 2 6iT6NMLSHWSTGLD.

IV.  ©uurs HEMGLGUIT USHaNHEG BHHOBHBHHBLILBMHBEG Q(HAT,
GBIULTTOSHT(H &L_L_LD6ITM CaHTG U0 Q(HEUTEBTENITH ugley
QeI mbs Gouewmi(BLD.

a.l wmmb I w’ G b. II wmmid 1T w Gib c. III (B

d. T wBgw IV @G e. allewL  Oxflwalevemnso

Who among the following controls the Secretariat of the Loksabha and
Rajya Sabha, respectively?

a. President and Vice President respectively

b. Prime Minister and Union Parliamentary Affairs Minister

c. Prime Minister and Home Minister

d. Speaker and Chairman respectively

e. Answer not known

Weiteu(pld QUITmILILTeNTSEHeT WTT S Sjeweu BMID Gsvenealulle CFWIEHHmSH
SLBUUGSHS, SHmeoamBuBml euBL &8 ©lge0sla36IT?

a. YAMHLUL 1OBDID SHlewew eTSHILIS

b. Mysw wWHHM WBEBID WHBHU LTTTEHLOGTBHHIMNB  HIEDLOF ST

C. a0 WhHSHIM 1oB@ID 2 6THMB  HENLDE ST

d. Spemeuuier FUMBTWST WHBBID Goevenalule HEMEVEUT (LPENBUITS

e. allewL  Gafluailsvensv
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32.

33.

34.

35.

Termination of a session of the House by the Speaker is

a. Dissolution b. Adjournment c. Prorogation

d. Summoning e. Answer not known

FUMBTWSIT60 LITITEHLOEIHE SInTallener (Wgeadh@ OETewi(h aUHHeD DLEGLD.

a. SHM6LLIL| b. @ddmai C. (PYodhG OBTEMIH 6UHFHED
d. sl e. oL O flwalevamev

Article 94 of the Indian Constitution deals with
a. Removal of the Speaker and Deputy Speaker
b. Removal of Chief judge of Supreme Court

c. Removal of Chief Election Commissioner

d. Removal of Vice - President

e. Answer not known

@by opfweosmolil algh 94 alend@eaug
FUMHTWST OBDID SHIHew! FUMBTUIST HbHLD

® FF BHHIO@B HMEVMID HAHLIFH HHSHLD
HMVMID CHTHEL DLENEWIWLIT [HHELD

SHMWIH GHIQUWITHSH HEN6VEUT  HebBHLD

alenL  OFflwalevenso

© a0 oD

Who is the Chairman of Rajya Sabha?

a. The President b. The Vice - President c¢. The Prime Minister
d. None of the above e. Answer not known

@rreow Fenuufer (Gevemeuulledr) &HemeveuT WITT?

a. GRUWI&ES SHENELEUT b. sivewid GRUTHS HE6VaUT c. UpgsLoT

d. Cupamplw egiaflsbeney e. aflenL GHflwalsvensv

Consider the following statement (I) and (II). Choose correct answer:

i. Parliament is competent to make laws on matters enumerated in the
Union List.

ii. Parliament alone has power to make Laws on matters not included in
state or  concurrent list.

a. (I) True (II) False b. (I) False (II) True c. (I) and (II) True

d. (I) and (II) False e. Answer not known

Ueteupd  eumddwid (1) wppid (i) seueisseyb. sflumer alomLamw  Gpiey

Cgus.

(i) LIMTT@BHLOGSTBID oGHAHUl UL lguwieded FU LD BuIBBID DIFHSTID CUBBS.

(i) Ourgiuliguisd  WBBID Il  Uluwelsd GLb  GUBTHmeuHET6D

uTgmEHLBEL FULID QuBBIL HISHSTID CuBDIeTTSI.

a. (i) e_eweww (i) Heuml b. (i) seum (ii) o ewrento

c. (i) wppp (i) o eweno d. (i) wBpd (i) Seuml

e. alewL Ozflwalsdensn
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36. Which of the following features of the Parliamentary Democracy in India
is/are correct?
Under Article 79, Parliament of the Union
a. Consists of the president Loksabha and Rajyasabha.
b. Consist of Two Houses of Parliament only.
c. Consist of the Vice President, Rajyasabha and Loksabha.
d. None of the above.
e. Answer not known
@AhHWTaled BTLTEHOENH WHHMTL S ibFmiseed Ffluimerg)?
o miy 7986 S DHAUW QRETEUISHI6 [BTLTEHLOGIBLD 6T6TLISI
a. @GRWrgGHHmeval] Geordhaum WBMILD FTERWFUT
b. pTL_TEHOSBSHE B Dlen6eubeiT oL (BLD
C. HIMeW GRWITSHSH SHewevau], Jreawgum wBmid Geordsaum
d. Gupanpiw gmiIflsensv
e. alewL Ozflwalsdensn

37.  Which of the following statement is/are correct about Rajyasabha?
1. The Government of India Act, 1935 provided for the creation of a

‘Council of State’.

2.  Rajya Sabha is a federal chamber where 238 members are elected by
the elected members of Assemblies of the States and Union Territories.

3.  The 1¢t sitting of Rajya Sabha was held on 13t May 1954, unlike Lok
Sabha, Rajya Sabha can never be dissolved.

4. The Vice-President acts as the Chairman of Rajya Sabha. In his
absence, the deputy chairman takes the place of the chairman who is
elected by the members of Rajya Sabha.

a.1and 2 only b. 2 and 4 only c.1,2,3 only

d.1,23,4 e. Answer not known

LeiTeu(hlD SnBEmISaied JTRWSFUT GBS FFlLTeTenel 6Teneu?

1. @3 @b SPas FULD 193561 Sp 2 (HeUTHBIULL F).

2. 238 o mlerHell  DTHeVRIG6T LOBBID Q@i  SLEHMSBHGSLLULL LG
FLLLDGTBHmIGS6T cpeold CarH0\%H B8 SLILIBEIBT].

3. WPHev LD 1954 G 13 ey OHTLRSWS. OBHBID  LOTHEUBISETTEN6
od&Hemened GUITETD HM6VSSLILIL  (LPIQUITHSI.

4. GQUIGHH HIDESHHMEAI] OTHEVRIBNTMaIGS HmeOATTHF  CFWeOLIBHEIT].
o] @evevrs Gurgl wrHlevmisenemel o mililerysented CHibHoHHSHSILBLD
LOTHIEVRISETEMEUUTGT  HIEN6NTHHEMeVaI] HEMELUTTEF GlFUIGOLIBHEUT].

a.1 wwppid 2 w G b. 2 wByD 4 W HD c. 1, 2 wBpid 3 W BHD

d. 1, 2, 3, 4 e. alenL GxMuwealsvenew

38.  With reference to parliamentary democracy in India, Consider the following
statements.
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1. Under Article 78, the parliament of the union consists of the president
Loksabha and the Rajyasabha.

2. The 1st sitting of Rajyasabha was held on 13th May 1952.

3. The Loksabha consists of 543 elected representatives of people.

Which of the statements given above is/are correct?

a.1,2,and 3 b.1and 3 c.2and 3

d.1and 2 e. Answer not known

LNeTeu(THEUGTAUMBMIGT LITITEHLOTD 0SS & LUBMlul SnBBIsemen SLITUIS.

1. alg 7861 &S UTITEHOEBD  GHLQUWTSGSHHmeval].  Geomdhaur  LOBEBID
JTTRUWIFLITEN6 2 6TT6NL bl

2. gmgywaumeller (1pgHed gl Llb 13 G, 1952-860 BHL GLBBSI.

3. Georsgum wasenmed CaIbHOsbGHaILLL 543 UFsHhgsemend 6aTemiLgi.

GuoBsaemi gnppiseiey FflwmarauBamnss CHIbHOHE.

a.1,2,3 b.1,3 c.2,3

d.1,2 e. aloL Osfwaledeamev

39.  Which of the following features of Rajyasabha is/are correct?

1. The Rajyasabha is an institution to protect the rights and interests of the
state like the House of Lords, in Britain.

2. The Member for Rajyasabha are elected by the members of the
respective state legislative assemblies.

3. Unlike House of People, Council of States is not subject to dissolution
but one third of its member retire every second year.

4. In India the representation in the Rajyasabha is based on its size of

population.
a.2,3and 4 b.1,2and 3 c.2and 3
d.1,2,3and 4 e. Answer not known

LeiTeu(heuaTauBmIe JredFenUule SIbgFmIBeT GHBleHa Fflimeaienal eTenel?

1. 9l Lefed pysser Semeuenwill Gumev LoTHlevmIGeNeT o flenipgeT LOBMID
BELETHEMENL LITHIBTHGSGID @(h DIHLOLIL] LOTHIGUHIGETENE.

2. wiHevmiseenal o mIllensel  FOUBSIULL  omBlevnkiselle  FLUL DB
o miifenjsented CHIbHoeHBHSLILIGHMBTTHET.

3. dsemeneuemwl BGuUTe  EEVEVTIDED  LOTHICLURIBETENE  HENEVSHBLILILTHI.  DLEIT60
6lleuT(h @reni(h UBLSIHIBGSL DiHaT 2 mIilafsened cpeipsled @h LmIE
o muiilenyseT USalETVHMS Hlenme| GCFUIeUTTSHe.

4. @pFHuneied oTHevmseemeuuisd LITHHHHHIMD DIHSHHSH  LOMH6VHISH6N 6
&HFHTOSHTNS DlgLILInLUTD SHIMLOHRHIGTENTGI.

GuoBaamiL FmBpIseaied  Ffluimerenel eeneu?

a. 2, 3 wBpLd 4 b. 1, 2 wBm 3 C. 2 wBpb 3

d. 1, 2, 3, 4 e. alomL Gxfuelsvenew
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40.

41.

42.

Consider the following pairs:

1. Article 249 - Authorize the parliament to make laws on a subject
enumerated in the state list.

2. Article 312 - Authorize the parliament to create new All-India service
common to both the centre and states.

3. Article 110 - Joint Session of the parliament summoned by the speaker of
Loksabha.

Which of the pairs given above is/are correctly matched?

a.1,2,3 b.2and 3 c. 2 only

d.1land?2 e. Answer not known

LIeTeU(HLD  E)en6enTHemeT  SYLTTUIS.

1. alg 249 - OTHeLHIBETEN6 LDIT[H16V UL 19uIedl60 GBI UL 19(HEEGLD
SIFHBTIHRISH6T6L [HTLTEHOEBD FULID @UIBB IHSTT06MSS (LPIQUILD.

2. a@lgl 312 - wiplev BEID WHHW DP&FHEG OLUTHMTE DMaTHH ObHHWS
Gaiyeumenemiighend 2 (HeUTHS LOMH6VMIGGTTENEY BITLT@HLOGTBHSHIH S
DIFHBTIeNHE  (LPIQULD.

3. alg 110 - umImEBETB gl Bd Tl LHHMBES DML alBLLAIT DHH6Temneal
FUMBTUIS]T

GopaemieuBmieT FHlwmsl QUTHHHU! E)enemnTseir?
a.l1, 2, 3 b.2 wBmw 3 C.2 W B
d.1 wBm 2 e. alowL OGzfuelsdenev

The Term Quorum of the house refers to

a. One tenth of the total number of members of Loksabha.

b. One tenth of the total number of members of Rajyasabha.

C. One tenth of the total number of members of Loksabha/Rajyasabha
constitutes the quorum for a meeting of the House.

d. None of these

e. Answer not known

Slmaluied Camy 1B aumfHme GBILLIBeug

a. Geordsgmuuier OTHe o plilanseled LSHHeO @hH LMG

b. prgwismuuileaT Grss o mililaseisd LSS @ LIBIG

C. &BH6Nema/ LOMHEVRIGETEN6! Fal L $H0OSTL[JSB6emer bL SHSHIUHBE OIoTsHs
oTenTanl HenBUlled LISHHe0 @(h LG

d. Gumgpiw gmidleensv

The Leader of the House of the people is the

a. Prime Minister b. President c. Speaker
d. Vice-President e. Answer not known

oHFHemmalUlel HemevaUTHd SHepuel] _ .

a. UysLojy b. Bpurss SHemevels C. SUMBTUWISH]

d. siememt @uWIasSHmevar] €. alewL G fulalsvensy
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43.  Who has the final authority to decide on the question of point of order
a. Leader of the opposition b. Whip of the Ruling Party
c. The Prime Minister d. The Speaker
e. Answer not known
Slmaluled umel UrFdmer @Pss Cxeraldsd BmIsH (pLsudBLiLeus?
a. aPHTohasl HH HMmeval] b. eyemibsl Aulet GammLT
c. Uysiof d. surpTws]y
e. alewL Ozflwalsensn

44.  According to Article 368, a number of provision in the constitution can be
amended by a simple majority of the two houses of parliament. These
provisions include

1. Election of the President

2. Admission or Establishment of New States

3. Quorum in Parliament

4. Changes in the Directive Principles of State Policy.

Which of the statement given above is/are correct?

a.1and 2 only b. 2 and 3 only c. 3 and 4 only

d.1and 4 only e. Answer not known

o mi 363-Qety  OpFenwolider QU  eTewtenidensullevoner  FLL allgldei

BTLT@HLOGITBH 60T FFIJ 606U & 611160 SHeTLIGILI(HLDUIT6EITenLD eLPGULD HHSHH

SIMLDHBLILIL UMD, Sjen6u?

1. eyurasmevau] CxigHe0

2. yFHw THeVRIBMET IS IS DIVVSHI 2 (HeUTHESHaIS]

3. BILTEHOGBSHH60 SIOJalBE GHOBHIULF 2 ML eleuenibemd (P96
OQauieugl (Csmyib)

4. ops Opppers CamlumBseaisd LOTBMBLD.

GoBeemiLeuBmIeT FHWTT FnBBISH6eT eTeneu?

a. 1 Bmib 2 Wl @w b. 2 wBmbd 3 w G C. 3 wBmId 4 W (B

d. 1 wBpb 4 w’ @b e. alewL Ozfuealsdensv

45.  With reference to Ordinary Bill, Consider the following statements?
1. It can be introduced in Loksabha or the Rajyasabha.
2. It should be introduced only by a minister.
3. Itis introduced without the recommendation of the President.
4. It cannot be rejected by the Rajyasabha.
Which of the above statement is/are correct?
a.1and 3 only b.2 and 4 only c. 1 only
d. All the above e. Answer not known
gngmyent WEFTHT UBPW FnBmISHemeT LU1SH?
1. B3 WoHHeMemed SIEL6VSHI LOTH6VBIGBETME 61360 CauewIBLOTEITEID GHTewI(H
GUTLILIL_6VITLD.
2. Bz Smw&FITeL L GG OBTewI(H eUF(LPIQULD
16 | Page PH: 044 - 24339436, 42867555, 9840226187



46.

47.

48.

49.

50.

3. Guwras Hmevaufler LfhaiienTuleveomioBe Bg SHIBIPSLILBSHSLILIL GUTLD.
4. ®eng WOMHLHIGTMA BIITHMobs (PQUTSH.

GuoBseniL. FnBmIBefed Ffluwimerenel eleneu?

a.1 wBp 3 W' Gb b.2 wBmpb 4 w’ G c. 1 WL @W

d. Cupaplu SimasaId e el Ggfuealsvensy

The perimeters of two squares are 40 cm and 32 cm. Find the perimeter of a
third square whose area is equal to the difference of the areas of the two
squares.

a.28 cm b.14 cm d. 10 cm d. 24 cm

Arewi® gFoHImSeNsT &@mmete) 40 OF.0 wBmID 32 0F.15 UGWD. CPIBITLD
FHTSHFHT LILiLene] BB & FHImGaTIa UFluaaleal alSHHuTFsHIHBE Lo
GT60 CLPSIIBTD FHITSHHGT SHBM6N6Y 616016077

a.28 cm b.14 cm d. 10 cm d. 24 cm

The difference between the highest and lowest value of the variable in the
given data is called
a. Frequency b. Class limit

c. Class interval d. Range

Qm alaugddler o wihd WwHIIBGWL, Gmpeuter WHIIBGSL e Guw o eiten
alsHwrgib ?

a. MHapOleueust b. 1ifley er6vemev

c. Ufley @enLGoue d. afsa

The volume of a solid right circular cone is 11088 cm?. If it's height is 24 cm
then find the radius of the cone.
a.20 cm b. 21 cm c.19

d.18 e. Answer not known

@ GChTeu'Ls anblie Ser Sleey 11088 OF.15° Su@WD. gwblilet o wigd 24
QF.10 eTerlleD, DIHOT SHIID HTEWISH.

a.20 cm b.21 cm c. 19

d. 18 e. alewL Gxfuwelsdenew

A truck covers a distance of 550 metres in 1 minute whereas a bus covers a
distance of 33 kms in 45 minutes. The ratio of their speeds is

e@m eumfl 1 Pl saed 550 B LT FmrsHmd oL sIBH. 6% GHIHHed @
Cumbg 45 PbLmseflsd 33 &5 sL&HBH. DuBplar Casdhdlear aldHd
BITGTEb.

a.2:3 b. 3:4 c.4:5 d. 5:6

If the area of the rhombus is 60 sq. cm and one of the diagonals is 8 cm, find
the length of the other diagonal.

QM FTUIFHTSHHET uFluene] 60 F.05.15 WLBDBID DISHET Q@H PV LD 8
QF.10 etelle0, LOBOBTMH CLPMEVNTL L HEDHH HT6wI5H.

a.16 cm b. 20 cm c. 15 cm d. 10 cm
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51.

52.

53.

54.

With reference to money bill, consider the following statements.

1. It can be introduced only by a minister

2. Itrequires the certification of the speaker when introduced in Loksabha.

3. It can be detained by the Rajyasabha for a maximum period of 14 days
only.

4. Its defeat in the Loksabha leads to the resignation of the government.

Which of the statement given above is/are correct?

a.1,2,3and 4 b.1,2 and 3 only c.1and 2 only

d. 1,3 and 4 only e. Answer not known

uewr OGFTHT LUBMBIWI SnBBIBM6T UIH?

1. 85 semwsagmed WL GO (WS ILGSHS (PIQULD.

2. wissanenauuisd Qlpsd QFUIW FUTHTWS] FTAPHD Dlefds GouewiBLb.

3. wiHlevmisemmaluied SIFEULF0oTes 14 BIL&6T WLGCD HBIHSH meubHD
PQUiLD.

4. éapenamaiuied RDCFTHT HeBCaBTaIl LT SeFFIenal LHaI alevd
Goueumt(HL.

GuoBaamiL gmBBIFHaTed Ffluimeieneal sleneu?

a.1,2,3 wpmdb 4 w G b.1, 2 wBpb 3 wWCED  C. 1 wWBBID 2 WG

d.1, 3 oBmb 4 WL G e ol GHfwaledenso

The Union Executive who is responsible for the setting up of official
language commission is

a. Prime Minister b. President c. Cabinet Secretary
d. None of the above e. Answer not known

DIIeU60 OLOTHSHGH(DemeY SIMSGLD DIHSTID OBTewIeuf .

a. UysLojy b. @uwyssHmeval] C. G061 GFuwieome]

d. GuBampPluw ggufeoenen e. aleml G Muwaledenso

He is referred as ‘Primus Inter Pares’. Who is he

a. Attorney General b. Comptroller and Auditor General

c. President d. Prime Minister

e. Answer not known

LemyLD6D B)6o1L_iJ LITJ 610 (ZFLDLDT60T6MT & (6YH6IT (LPSHETEHLOUITEIT6UT) Qs
SBlwILGuUeuf?

a. oL Lmyell Glegesryed b. semevemnind BewTIdE 56w e UITENT

C. BGQUIT&HS HEM6LAU]T d. Oysiof

e. alewL Ozfwaledensy

With Reference to the Prime Minister, Consider the Following Statement

1. He has the power of selecting ministers.

2. He cannot transfer a minister from one department to another.

3. He is the sole channel of communication between the cabinet and the
Lok Sabha.

4. He is the Head of the Government.
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55.

56.

57.

Which of the following statements is/are correct?
a.1and 4 only b.1, 2 and 4 only c. 3 and 4 only

d. All the above e. Answer not known
eiteu(pld gnpmiseiied LIFsHof LMl sflwimetens eTeneu?

1. swFsismen CxHje CFUIUID HHSTTD CSHTENIL6UJF

2. g0 owssmy @6 Sopuldditbs Gup SMBEE WIS TISOGEEES
HIFHBTTLO606M60V.

3. GxlGe. BBID WwdHHeTmar @l B (pSHHW  OBHTLILY  UTEILDTH
SIS

4. opsmhssHHar Henevsu], BeuGy.

a.1 wBp 4 w' B b.1, 2 wBmd 4 wW G c. 3 wBBID 4 WL G0

d. GuBampu Smardhaid €. el & Mwaledenso

The Prime Minister Office Came into Existence in

a. 1947 b. 1950 c. 1952 d. 1956 e. Answer not known
TSHIDT SIQIU6VHID © (HEUTHBLILLL SLewIh .
a. 1947 b. 1950 c. 1952 d. 1956 e. aloml GaMNuwelsbensv

The Indian President has a veto power over
I Ordinary bill

II Money bill

III Constitutional amendment bill

IV State legislation bill

Which statement given above are correct?

a. (I) and (IV) only b. (IV) and (I1I) only c. (I), () and (IV) only
d. (II) and (III) only e. Answer not known

Gpgu  Gougs s  apal sl JHH  CEUIHED  SPETTSMS
O\ T6mTIQ(HESIMBITT

[ angmen wCamam g

I pg wlsnar 1z

I epdflwevenlig sl L HmeHs WCFTHT 155

IV oo gL w@amsm g

GoBamplweuBpieT e1g gflwmeng?

a.l omp IV 1wl Gb b. IV wmmpd I w @G c. I, I wsgd IV wl @Go
d. I wmgd 11T o G e. allewL  Oxflwalevemnso

With Reference to Central Council of Minister, Consider the Following
Statement is/are correct?

1.
2.

The Central Council of Minister is headed by the President.

It consist of three categories of ministers, cabinet minister, ministers of
state and Deputy Minister.

Cabinet Minister are involved in policy decision making, others have
administration responsibilities.
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58.

59.

a.1only b.1and 2 only c.1and 3 only

d. 2 and 3 only e. Answer not known

LedTeu(heuareuBmIeT DHSHUI DIMWFFTmel UBBIW FHWTeT SB)IseT 6Tene?

1. wHFHW SEDWFFTHET GHUWAISFT HMEVUTTHS HBHDUT GYUWTFHSH HEDELEU].

2. BFH0 3 Udd IMIFFTH6T o efenial. Sewal, HTIC@I.  SHEDIDFFTH6NT,
LOTHIEL  DIMIDFFTH6IT LOBMID HIHEWT HIHLOFFTH6T.

3. &MIORI. DIMFFTH6T OBTeTND (PIYa|He6NT 6IBLILFH FHUBLITHET BB
&m Ufley SiemwdFsiseEsd Biaursll QuTpiiLsmen GLmOsTeTLeTH6.

a. 1 wl’ @ b. 1 wBmib 2 W Gb c. 1 wBmpb 3 @G

d. 2 @@ 3 w G0 e. alemL Ozfuwealsdensv

Consider the following statement as the “Oath by the President

1. To faithfully execute the constitution.

2. To preserve, protect and defend the constitution and the law.

3. To Devote himself to the service and wellbeing of the people of India.
Which of the statement given above is/are correct?

a. All the above b.1 and 3 only c. 2 and 3 only
d.1and 2 only e. Answer not known

GwrsHsh Hmevalflal LSaIILITIOTD GBISHSH FHlwTer SmBBIHeT eTeneu?

1. sppsmwlinu o auemwu]l 61 CFuwsoLBHHSHIIS

2. 9FFIOLL WBBID FLU LSS LITHIBTILIG].

3. @bHwnaler whHeT CFemel LOBBID HOMTDAIBHTES HETH DITLILIGILILIG.
a. CuBamplu SaISSHId b, 1 wBmId 3 WG C.2 wmmid 3 w (B
d.1 wBmpd 2w G e. aloL Oxfwaledeamed

Which of the following statement is/are correct?

1. The Parliament of India consists of the President, Loksabha and
Rajyasabha.

2. Indian Legislative System is called as Bicameral System.

3. The Executive power of the state is vested with the Chief Minister.

4. Member of Rajyasabha are directly elected by the people.

a.1,2 and 3 only b. 2,3 and 4 only c.1and 2 only

d. 1, 3 and 4 only e. Answer not known

Lelteubd SnBmIseriled &flwimerene eTeneu?

1. @baHw uUTITEHEBID  GHYUTHidHHmeval], GeomdaFemul LOBEBID FTERUIFEMLIENUI
2 6lT6NL &I

2. @hHu FULIDGSB (1pedB FIeDal (LPeDB.

3. e BFeurs SHIFSTIMHIE6T CBTEHILGUT (LPSHEVHLOFSF ]

4. prewigenLiufesr o milnilenyseir LD& BH6YTT60 GrIuITes
BB 0\%H B S BLILIBETN360T].

a.1, 2 wBmb 3 1w’ (Bib b.2, 3 wBmb 4 WL GD . 1 BB 2 Wl Hd
d.1, 3 wBmb 4 1w G e. alowL Gxflwaledeamev
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61.

Which of the following statement is/are correct?

I. The Members of the council of ministers are collectively responsible to
the Loksabha.

II. The Prime Minister is the head of the government.

III. Under the Indian Constitution, the Loksabha enjoys superior powers.

IV. The Channel of Communication between the president and council of
minister is the speaker of Loksabha.

a. [l and IV only b.Iand II only c. Il and IV only

d.Iand IV only e. Answer not known

LNeiTeu(hLD SnBmIseled FFlWTeTene 6Ten6u?

. smwFsTener o BIITN@TH6T DSBS GHS Fnl BUI GUITBILILEML WIGITHENT.

II. pso] SIWFTRIBSHHE HMELOAUTTHS HBHDBMT].

III. @baHw  odwevenoliieg  WwoHBeMmalCLl  DHBOTHT  HIFHEBTTHMSBHH
QBTN (HEBBHBSI.

IV.gpursssmeoeu] LBDBID SDWFFTMUSGmLCW  QHTLFY  LmeoLTH
alleNMmIGLIAN] LDSHHETeN6! FUTBHTUIST

a. III wmmib IV wr @Gid b. I io@mud 1T wr” Gib c. IT wmmid IV 1o Bib
d. I @b IV ol G e. alemL Gzfwealsdensv

Match the following

Legal Immunity Article

A. President and Governor 1.105

B. Member of the Parliament (M.P) 2.361-A

C. Member of the Legislative Assembly (MLA) 3.194
D. Publication of Proceeding in the Legislative

making body 4.361
A B C D

a. 1 4 3 2

b. 4 1 2 3

C. 4 1 3 2

d. 3 2 1 4

e. Answer not known

CUT(HSHHIS.

FL_L_TRI&6IT AT HBI

A. gzt & SLEmHHT 1. 105

B. umgmemposis o miti et 2. 361-A

C. slLwap o piinier 3. 194

D. sl LaB BLaugsmassmen GeuefulBaeo 4. 361

A B C D

o N oo
N R R
_ W N W

2
3
2
4

W R
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63.

64.

65.

e. alemL Ozflwaledensv
G.V. Mavalankar was elected as the first speaker of the Dominion
legislature in
a. November 17, 1947 b. August 17, 1947 c. September 17, 1947

d. October 17, 1947 e. Answer not known

OQLmwelwer  FULGBSHSH T  (pHe0  FUTHTWSSITET  2dl.al.  OLDETELT6IST
alICuUTRg BHThHOHBHSHSLILIL L.

a. 1947, meubuit 17 b. 1947, eymerdl” 17 c. 1947, Qari_ibuir 17

d. 1947, s&GLmuir 17 e. alenL GxMuwelsvanew

Consider the following statement.

I. In a Parliamentary form of Government membership of the minister is
mandatory at the time of appointment.

II. The executive in a parliamentary system is responsible to the legislature.

Which of the following statement is/are true?

a. I only b. IT only c. BothTand II

d. None of the above e. Answer not known

LTeTeU(HLD  GUTE S UIBIGBEM6NT  BH66THSH|LD.

L. UTJTEHLOB  (penpulleoren  SFFled, SImwFFT ugSalulledr  Hluloerd e
Gural SleuT o _milleymul @mUILG &L L TUILD.

II. Q(H UMITEDHLOGTE DIeMLIN60TeT FL L IDSIBSHSH0 HIiTeurs) GLITBILILITEUTT.

BeuBpleit 61z / eleneu Filuimenng)?

a.l w @ b. II wr @B c. I & Il @yewipid

d. aimiayevensy e. alewL Gxfuwielsdenew

The Committee on Estimates, consisting of 30 members, is constituted by
a. the Lok Sabha only b. the Rajya Sabha only

c. both the Houses of the Parliament  d. the States legislatures

e. Answer not known

30 o _minilenTeemen OsmewiL WHIT BSH GH(1 2 (HeuTssLILbHS

& Hemenelullel(hhal oL (BHLD

Lomplevmigeneneuuilevl(hbgl oL (BLD

LTITEBLOGBHSEE Bk Dlweuseted bl

MBIV FLL  LOGTIBHIS6T 60 (HHS

allenL  OFflwalsvensn

oo o

Consider the following statements

1. The office of the vice president of India is modelled on the lines of the
American vice president.

2. The vice president is elected by an electoral college consisting of elected
members of parliament and state legislative assemblies.

a. Both are correct b. Both are wrong c. 11is correct

d. 2 is correct e. Answer not known
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LN6ITeU(HLD SnBEIGM6T  SLTTUIRLD.

1. @bsdHwu glewewt memHus uFHel, SOwlssTalear Smemr HUT LS
LTHMNUIED 6 aIENLDEBLILIL (BTN,

2. Flewewl  MeTHUSH  UTITEHOSIBLD  WBMID  OTHE0  FL L LD6IMBHIGHENT 60
GxiMhOHBSHBLILL L o mpifeiTeemend — OHTWIL  UTHSTENT G (DLOSHSHT6D
BaiTH0\H B SHBLILBHBT.

a. ®yewio & b. BrewiG Heum c.1af

d. 1, 2 & e. oL OHflwalevemsv

Consider the following statements regarding the powers of vice president.
1. He acts as Ex officio chairman of Rajya Sabha.

2. He acts as a president when vacancy occurs in the president’s office.

3. He can acts as a president till a new president is elected.

a. All are correct b. 1, 3 are correct c. 2, 3 are correct
d. 1, 2 are correct e. Answer not known

S  GWISHHHmevalflerr DIHSTIMIS6T CFHTLTUTET  LNSeumd  FnBmIsemern
SLITWIGLD.

1. &leuT greywsuTalle DIFHSTTLLTE SHeMevauTTsd GFuIcoLIBEH M.

2. mamHuUF  SlsvieleudHFHe0 OeuBmiLld gmBuBl Gurgkl ST MeTHuSUWITS
CFweLLIB M.

3. ysw memsugdl CaHT0ehessLUB  auemy ST  @emaHuSHuIns
G&FweOUIL (LpIQuLD.

a. SIONHHID &l b. 1, 3, & c. 2, 3 gf
d. 1, 2 & e. alemL O fluialedensv
Match the following
A. Art 63 1. Election of vice president
B. Art64 2. Oath and affirmation
C. Art 65 3. Vice president of India
D. Art 66 4. Vice president to act as president
E. Art 69 5. Ex officio chairman of Rajya Sabha
A B C D E
a 3 5 4 1 2
b 2 1 3 4 5
C 1 2 5 3 4
d 5 4 3 2 1
e. Answer not known
CUT(HSHSIS.
A. a9153 63 1. SlmeW GHRUTFHSHHMmevalT BHTHe0
B. egrsa 64 2. ugailiiyrend wBBID o BIFewTH
C. a915ha 65 3. @bHwmaler Henewid GQUTHSH SHeNEVeUT
D. agrsa 66 4. FIWENT GHQUITSHSHHEMEVUT GHQUITHH HENEV6UTTSH
G&FuwedLIHeUTT.
E. agrsa 69 5. grggw gumallell SjeVIeUT LLTeN  &Hen6veuT
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69.

70.

71.

an oo
SN CRICS
BN R O g
W U WA
N W R g
= o 01 N

e. alemL Gz flwailsdenev

In the Indian political system, the phrase “inter stellas luna minores”
denotes the office of

a. The president b. CAG c. The prime minister

d. Vice president e. Answer not known

@hHw  rfweosmoliied “BLasHHTmEsEnHE BB Lrsrdagd meor”  erer
eUTemN BLILIBLIGUT.

a. GYWTESHHMeVaT b. CAG c. Uyslof

d. siomis Guuras somevalT e ool sfualedamev

Who said, “the government is the master of the country and prime minister
is the master of the government”
a. HRG Greaves b. Munro c. Ramsay Muir

d. Lord Morley e. Answer not known

SIFFTRISD  61TLHI BTLIQENT  HewevauT, LIFHIOT eleileuT SIFFTRISSHSH 6T  HEnev6UT
oIed1s  FnpmlwleuiT

a. HRG &ifsiierd b. weiGmm c. gmbBaF epwli

d. wrred gy e. alen O flueisbensv

Consider the following statements

1. Art 74 provides for council of ministers with the prime minister as the
head to aid and advise the president.

2. The president cannot exercise executive power without the aid and
advise of council of ministers.

a. Both are correct b. 1 only is correct c. 2 only is correct

d. Both are wrong e. Answer not known
LNeiTeU(HLD SnBMIG6M6T  SLTTUIRLD.
1. eag1sa 74, yswemysd SHomeoauIrissd OeTemil  HmWWFFTMIS G

AOMHUHEEG CeoTFamen aIPHIGIBSI.

2. SOIMDEFFTM6IS IR LRV Edoola i) WTHILIG HliTeurs
FBMSMSL LWSTLBSS (PIQUITSI.

a. ®yewio & b. 1w @G &M C. 2 wi{p g

d. 8yewi sHeum e. alowL OHflwalevemsv

Consider the following statements
1. Indian democratic political system is also known as west minister model
of government.
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2. Article 79 to 122 in part VI of constitution deals with the organisation,
composition, duration, officers, procedures, privileges, powers and so on
of the parliament.

a. Both are correct b. 1 is correct c. 2 is correct

d. Both are wrong e. Answer not known

LeiTeU(HLD SnBMmIGeM6T  SLTTUIRLD.

1. @hau DMeapTLs DTFuisd Sl  “GeusrOl WeledLT rHf  oysThisD”

TRALD DIMPSBLILIBHH MBS

2. opdwevenioli] UG VI agrshaml 79 (1pHe0 122 euedJ  UITJTEHLOGHIBE S 6ot

Semwly, uHalsmTeod, DHSTHH6T, HeOL (PenBHeT, FBLYTendeT  LBMID

UevIBeBL UBMBS FnBISBSI.

a. @yewid i b.1 w' Gw & C. 2 wi@Bw &

d. @yewid Heuml e. oL OHflwalevamev

Consider the following statements regarding disqualification on the

grounds of defection.

1. If an independently elected member joins political party.

2. If any nominated member joins any political party after the end of 6
months

3. If the member voluntarily gives up the membership of the political party
on whose ticket he is elected.

4. If the member votes or abstains from voting in the house contrary to any
direction given by his political party.

a. All are correct b. 1, 2 are correct c.1,3, 4 are correct

d. 3, 4 are correct e. Answer not known

&L FHITUe0T60  gBUBL  HGHHHSHD  OFHTLTUTEr  UlaTeu(dd  SnBmisener

SLTTWRLD.

1. sBulenswns CaHTHOsBHSILLL 2 miiileT fuisd sl dulled GFThHme.

2. wiGyenid @p mHuwiwer o mrilelm 6  ISHIBESGT DPFuied S Hulled
GaiThHT60.

3. e _miienT Srems (peraubdH SlauT CHTHOSBISILLL  DFfluied &L Flules
o mifen ugalenw el BHOBTHSHHT6L.

4. @ 2 M SeuIgH SDIFFed SLFWT6D GUPRISLILILL  DLEneNIdhE LOTBTS
AUTHEHNHHTEL (O]) UTHSHMNHSTOE0 E)(HHIHT6V.

a. SmSHHID &l b. 1, 2, & c. 1, 3, 4 g
d. 3, 4 g e. alowL OHflwalevemev

Match the following with correct options.

Article Provision

A. 63 1. duties of prime minister

B. 66(1) 2. council of ministers with PM to aid and advice president
C.74(1) 3. Casting vote by vice president

D. 78 4. Election of Vice president

E. 100 5. Vice president of India

A B C D E
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a.l 5 2 4 3
b.2 1 3 5 4
c.5 4 2 1 3
d.5 4 1 3 2 e. Answer not known
QUTHHHIS:
gLL @l QUT(HENTL & &LD
A. 63 1. Mysofer GQUTBILILSE6T
B. 66(1) 2. wpFHigemu, Uyswiear o el BB  DGeoTFemend6iT
GQWISH SHMEVAIBES aIPEIGSHH LUBNSILIGSI
C.74(1) 3. GWISHS Hmeand Homevalfler el Hiiflenio
D.78 4. QUIsHsH HMaud HMevalT BHiTey (Lpenm
E. 100 5. GQUITGHS SHIMWIH HEMELAIT
A B C D E
a.l 5 2 4 3
b.2 1 3 5 4
c.5 4 2 1 3
d.5 4 1 3 2

e. alowL Gaflwealsdensv

The Constitution of India has provided for imposition of emergency caused
by war, external aggression or internal rebellion. With reference to
‘proclamation of National Emergency’ consider the following statements.

1. Proclamation of emergency has to be approved by both the House of
Parliament.

2. In case the Lok Sabha stands dissolved at the time of Proclamation of
emergency or is not in session, it has to be approved by the Rajya Sabha
within 14 days.

Which of the statements given above is /are correct

a.1only b. 2 only c. Both 1 and 2.

d. Neither 1 or 2 e. Answer not known

Gumy, OeualBTL (B SuSHTONLIY  DeV6VH o BTG  HenfFdl  LaluwieuBmmed

SugFy  Hewev LITsLaihmnsd @hHu  opdweosmoli  all@dglenengl.  Chdlw

SlugIHlemey LFsLaid OHTLJuTs, Lleeubd DIBlbamesenens 5616l |RIS6T.

1. 9ugy Heweoll LIJsL aisHSHHG BILTEHOSIBSHE EH DIeNeUSEHD LIL|H6D
SleMdbs Geuemi(BLb.

2. 9UFTHT6L Hlemev LysL e iubGSHSLILGLID Gurg) LD& & 6116061
SMEVSBLILLIY(HHSTE0  DI6V6VFHI Fnl LD HenL OLUBaIe0m60  6IIBIT6Y, DSBS
14 BTLSEHHEG6T LOTHeVmIGTme LILIEH0 SieMdds GeuemiBLb.

BGBev GaBTHHSLILL HeiTen mBmIGeied etenal/ ezl FflWimeTene?

a. 1 wl B b.2 L @Bid c.1 wBpd 2 @rewid i

d.1 wppd 2 Greawip Hevewev €. aleml G MNuwialedenso

Consider the following statements:
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1) The constitution of India classifies the ministers into four ranks viz.
Cabinet Minister, Minister of state with Independent charge, Minister of
state and Deputy Minister

2) The total number of ministers in the Union Government including the
Prime Minister shall not exceed 15 percent of the number of members in
the Lok Sabha

Which of the statements given above is /are correct?

a.1only b. 2 only c. Both1and 2

d. Neither 1 or 2 e. Answer not known

LeTeU(HLD SnBMmIGBemend el UL|hISH6N:

1. @phaHu SITFWwevemLOLIL] SDIMLOF FIJ 66T BTEIE [BlemELSHETTS

AUMBLILBSHHFBH. Gl DIHWFFT, Heoll GUTBILILEML U LOTHIL DIGHIDFFT
LOBDID SHIGHEWT DIGNLOF FJ.

2. Urs] o UL wiHHW Fled 2 6Ten GCoTHS DIGNDFFTHE6 61601601 HMD
wéHenemeluied o effen 2 miilenjsefler eewicnlsmauled 15 FHalhHHBES
BT @(Hbd Beuemt(BLD.

GwBev GBTHGHSILL (HeiTen FmmBmIGeied e1&l/ etenan Fluimerg?

a. 1 wl’ @ b.2 wl @w

c.1 wBmib 2 Byewi & d.1 wBp 2 BIwHiGn Bevenew

e. allewL g flualsensv

Consider the following statements regarding the functions of the president.
1. Appoints prime minister and council of minister
2. Appoints commission to investigate the conditions of SC, ST and OBC.
3. Supreme commander of defence forces.
4. Summons and prorogues house session.
5. Adjourns sitting of assembly
6. Nominate 12 persons to Rajya Sabha and 2 Anglo Indian to Loksabha.
7. Pardoning power for death sentence
a.1,4,5, 6 and 7 only b.1,3,4,5,6 and 7only c.1,2,3,4,6 and 7 only
d. All the above e. Answer not known
SPHOBTHHSLILL L uBMIGT  6Temed  GUWT&HSH HEMeLAUHEDBTR  OFuIeOLIT(HH6I60
SILMIGLD?
1. Ugsw whalfl wBpib whHlsbEpemea Buidggeo
SC/ST/OBC sbupsiulL alFTymensehdh@, SO SIEDLDSHH
LUTSISTLILL LD ST SHen6e06UT
Sie6 BLAUGSHMBH660 BIHDSHHID 2 Menid
FLLFML BIYalgHmEdHemen @HF CuTBEHe0
gTeRw  gmudb@ 12 o miidensend, Geord  sutalBE 2 SymsGeor
AhgHuwe mIrifenmaend Bulwerd OFuI%Hed
7. SMHGHSHSHMILMOT  MBHBEDHHEG  HHMW  JQLILINL UT6D  HEWIL 66T

SN

GMBLILY
a.1,4,5,6 wpyw 7 b.1,3,4,5,6&7 c.1,2,3,46&7
d. smarsaid g e. el Osflwalevemed
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With reference to the special address of the President of India which of the

following statements is/are correct

1. The President addresses both the houses of Parliament at beginning of
the first session of the each general elction and also at the beginning of
the first Parliamentary session of each year.

2. The President in his address informs the Parliament of the reasons of its
summons.

Select the correct answer using the codes given below

a.1only b. 2 only c. Both1and 2

d. Neither 1 or 2 e. Answer not known

OhHw  GuuUIssH Smevauflar Fply o mgmwll  GUTBISHeUT,  LleTeHLD

amBuIBefled eewel / 61gl Ffluwimeng)?

l. UTITEBLAIBSHHGT @A  SDdeudalel L LHHID  GSQUWTFHSH  HDEV6U]T
o amyumBmieuTy. @& eeubeurm Oursid GCHTHedsvd, el L6 BLD
(WFH6L Gl LG OaTLFlel CHTLSHBHHID HwL CLBISBSHI.

2. AU FHOIGH 2 mIuled UTTTEHLOMIBSHMS SIENLOLILIGSBSTET BT GITHISEN6I
O flaleammy.

&S  Oarhdasiul(Beten  @GNuibsmen ULWSLGSHSH  Fflwmer  alenLenulg

CaIHoBBSSD

a. 1 wl (B b.2 w’ Bb c.1 wBpd 2 Brewid i

d.1 opmpd 2 Grewihd Bevenew €. el OFHflwialsdenso

Match the following with correct options.

Article Provision
A.77 1. Grant pardon, reprieve, respite
B. 53(2) 2. Privileges of president
C.72 3. All executive action of union taken in name of president
D. 361(1) 4. Supreme command of the defence force of the union
A B C D
a. 2 3 4 1
b.3 4 1 2
c. 4 1 2 3
d.1 2 3 4
e. Answer not known
CUIT(HSHSIH:
FLL Sl CUT(HETL &&LD
A.77 1. Qurgy weefliiy, HeWILmaibGmpLiy / Bohsd
B. 53(2) 2. Gwras Hemevaufler FBli Felendwei
C.72 3. BWrsHsh HmevalT GQuWIMNed eIBSHSLILGID CFWLIOLITHSHET
D. 361(1) 4. (plILdL G HMm6ValT
A B C D
a. 2 3 4 1
b. 3 4 1 2
C. 4 1 2 3
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81.

d. 1 2 3 4
e. alemL Oxflweaiedensv
Consider the following statements regarding impeachment of the president
A. Mentioned under Article 61
B. To be supported by 100 members in Loksabha and 50 members in Rajya
sabha
C. Should give 14 days notice.
D. Should be passed by 2/3rd majority
E. Both elected and nominated members of both houses of the parliament
only take part in the process.
F. No president has been impeached so far.
a. A, B,C,DandE only b. A, B, C, D, E and F only
c. A, B, D, E and F only d. A, C, D, EandF only
e. Answer not known
GYWISsS  H@eoalT FILEBEG aFITar  GBpdHed FEUBHe uBPw /
DIHBBTT BLAIGHMS 6IEIF GBI UL Beiteng?
A. 57531 6160 GMILILILLIUL BHelTeng)
B. wésemenen o milnieniaet 100 Guir wB@ID OTHeVRISETENEN 2 WIILT6TTH6N
50 Guit, 21576 Geuewi(hLd
C. 14 pris6 M0 SUSTFHH60 Sfalds Colem(BLd
D. cpaipisg Syewi(h GuhbLTeenD Geuemi(hLD
E. Gaibos®Hsiiul L. / Buwend GEuwuiul L 8 el o mIlienmaerpLd
by WCFTHTaled LMIEG CUBIET
F. @z6ump 6hs Gu&FisHHameualbhd BHHSUIULL S E60en6v.
a.A,B,C D, & E w G b.A,B,CD,E&F c.A, B, D E&F
dACD,E&F e. alewL Oxflwaievemnsv

Which one of the following did not serve as the Vice President before
assuming the office of the President of India

a. R. Venkatraman b. Neelam Sanjiva Reddy

c. Dr. Zakir Hussain d. Dr. Shankar Dayal Sharma

e. Answer not known

L6310 (THLIGMIT B(6THIT b GRUWIFSH HMeval] LSEEG UHUSDBE  (LPesTel)
ST GUWITHSH HEMELEUTTS LieniwmBpalsvemnsv?

a. 8. OeumIBL FTLD6HT b. Seob FehFou Qi ig
C. LT&LY sl o Gger d. LméLy. FhIs] Swmel &Fom
e. alowL G flwalsdensv

When Posts of both the president and vice president falls vacant. who can
be appointed as the president and who is the first person to be appointed
s0?

a. deputy chairman of Rajya Sabha, M.Hidayatulla

b. Chief Justice of India, Justice M. Hidayatulla

c. Speaker of Loksabha, Neelam Sanjiva Raddy
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83.

d. Chief Justice of India, Justice P.N. Bhagwati

e. Answer not known

GRWTFHSHHMEVAT  GHQUWITFHSH HEMSH HWevalT LSl @ mSeT  @Jewi(BLd
sTeWTs QHSGWL Gurkl, WM GHYUTSHSH HMELaUJTE HUldHeoTd? DieleUTH)
(PSS (PFHEVIeD HuIOSSILIL L UT  wimiT?

a. JTERWSUT SHIMENISHHEN606T, 6ID. ABIGHUIS HIe060T

. (PSS HHUH, 61019610 611D, ABGHUISHHIEO6VT

LD&FH6Meme  FLIMBTWST, HeVD FehdFeu GrLiy

(WaeamD HHUS, erdigerd P.N. useug)

allewL  OFflwaleoenso

o oo o

Consider the following statements regarding removal of the vice president.
I.  Only Rajyasabha can initiate removal of the vice-president passed by
effective majority (majority of all the then members of council) and
accepted by Loksabha.
II. The resolution can be moved only after a notice of 14 days.
Correct statements are
a. I only b. Both I and IT c. Il only

d. None of these e. Answer not known
GLWISS HlMendh SHmevaled] UFHel beHeD b Gurg GomBosmeien
Geuemiigul euifl(Lpemm 61517

L. LTHleVmIE6T  Semauulled  Siflgls  Gu@pbuTaEImWwsS:  GupeauTed  Humfls
CQeuiwdu’ (B, HH6NTMel SDRHSTID CUBB el GRUWISHS HH6wsH
&HENEVEUIT ugel

b&HBID  QFUILIGVTLD.

II. gmorend  HeompGaBmliLGasBg (et 14 [HTET  HTD  SHIEUBTFLD
CasThHs GCouesi(HLb.

a. l b. T wmmpnb 1T c.II

d. gaefeoemev e alenL G fluiaisdened

The Parliament of India exercise control over the functions of the Council of
Ministers through.

1. Adjournment motion 2. Question hour 3. Supplementary questions
Select the correct answer using the codes given below:

a. 1 only b. 2 and 3 only c.1and 3 only
d.1,2and 3 e. Answer not known

@hHul  BILTEHLGIBL  @FH&T  cpevld  SiewwFgTemealulesr  GFuisoLmBhasemern
S BULBSHHSBHI.

1. @sbdmaliys gHjwrend 2. Czxetal Gmyb 3. glement Gaeitalgei

&6 OCarhsaiul(Beten  GBRUIGEmeT ULWSLGSHS — Fflwrer  elenL el
CaIHoB B BMLD:

a.1 w’@w b.2 wBpid 3wl @G c.1 Bmib 3 WG
d.1, 2 wBpwb 3 e. allewL  Oxflwalevemnso
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85.

86.

31 | Page

Consider the Following statements and choose the correct option.

L. When no party has absolute majority, president can use his discretion
to appoint the prime minister and he should seek vote of confidence
within a period stipulated by the president.

II. A person who is not a member of the parliament can be appointed as
minister but should get elected within 6 months.

a. I only b. IT only c. BothIand II

d. None of above e. Answer not known

S1pd LEThdsULLLeuBplen Fflwrer alLemuwg CHTHOHBHH GMILLILayb

L. abd @ SLFUD OuEpbuTaTm OUBTH LLFHHD, GQUITTHSHHMEVAIT,
Wrsoamrsd  CxiTey  OFWIweomDd. GQWISH  HMeVaU]  GUPRIGLD  HT60
DUSTFSHHBGH6T BOLISHmS auTHosbBUY CFuwigh o Mg OFuiul GeueamsiBLb.

II. uUTgTEBOSIB o mIrlemmmes  @60e0TdH BUMT DIMWFFITS  HIUILDSHEOTLD.
ST 6 WTHHHIHG6T CHTHele0 GeumBmioius GeuewiBLD

a.l w’ @ b. Il w’ G c. I wpmp II

d. ergieylsvensv e. alewl O flwelsvenso

Which of the following are true regarding functions of the prime minister?
I. Distributes and allocates portfolio among ministers

II. Political head of services

III. Link between prime Minister and council of Ministers

IV. Chief spokesperson of the country

V. Represent country at a in international conference

VI. Appoints Indian diplomats to other countries

a. L, 1, IILIV and VI only b. L IL III and VI only

c. L 1I, and VI only d. I IL, II[, IV and V only

e. Answer not known

saumeuereuBmieT  LIgHofler  CQFweOLTBHNMTHS  SHSLILBLDE  616nel 616015
GBIUILeLb

[ smwssisendsd Qeursst LINsa SieMdHe0

II. opdfwed Hmeveniod BFeusit

1. oBB oewwssTaCemm®G ST @b T GuTed GFWeOLIBHEH60

IV. prlger asniied aursmhL o fenwuBs (waHed LIFipsT

V. uetemm B ompTGHeN60 Hogl BT ge LFHBHuns 0Fe0asHe0

VI @pgdlugnsismen SILeObTHH660 HulddsHe0

a. LI II, IV & VI b. L ILIII & IV c. [ II&IV
d.LIL I IV &V e. alawL  Oaflwelsdenso

Consider the following statements and choose the correct options.
Assertion (A) : Rajya Sabha is a permanent house and cannot be dissolved
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87.

Reason (R) : 1/3rd of members of Rajya Sabha retire every 2 years, and new
members are elected to fill the seats thus vacated

a. A is false, R is true

b. A is true, R is false

c. Both A and R are true and R is correct reason for A

d. Both A and R are true and R is not correct reason for A

e. Answer not known

S1p&HOBTHHSLILL L supplen Fhlwmarmsdd CHThOHBHHIS GHBIILIL 6yb

Famp (A) :  JT®W FUT BIHSTOTRIH HEN60SHSLILIL DT LTH

smgeod  (R):  1/3 o mpiiieimser QrewiLmenifsd @muedn usel @uie]
CQuupEmTTHer. Ugh 2 mpiiileamser Caibhal BHEILULG HUWLOSSUILIGS BTTHE.
a. (A) seoup semmed (R) &l

b. (A) #f sguemed (R) seum

c. (A) wBpd (R) &f Guaid (R), (A) &g aflwrer alendsmd

d. (A) wBpd (R) s spemmed (R), (A)sg gflwmer alendsd iedev

e. allewL g flualsensv

Match the following with correct options.

Position Minimum age
A. President 1. 30 Years
B. Vice president ~ 2. 25 years
C. Lok Sabha 3. 35 years
D. Rajya Sabha 4. 35 years
A B C D
a. 1 3 2 4
b. 3 1 2 4
C. 3 4 1 2
d. 3 4 2 1
e. Answer not known
CUIT(HSHSIs:
ugel GMBHS ULF UG
A. eurad HMevalT 1. 30 euwil
B. @uurss HlenentssHemevalT 2. 25 sauwigl
C. Goord &um 3. 35 auwgl
D. grgqwgur 4. 35 auwigl
A B C D
a 1 3 2 4
b. 3 1 2 4
C. 3 4 1 2
d. 3 4 2 1
e. alenL  Ggflwalsdensv

32 | Page PH: 044 - 24339436, 42867555, 9840226187



88.

89.

Consider the statement about collective responsibility, choose the correct

answer from the options given below:

Assertion [A]: Collective responsibility, in “Parliamentary Democracy” is to

make the whole body and persons holding Ministerial office collectively,

rather than individually.

Reason [R]:  Collective responsibility implies consensus building machine

among ministers

a. [A]istrue [R] is wrong

b. [A]is false [R] is true

c. [A]and [R] are true, [R] is the correct explanation of [A]

d. Both[A]and [R] are true, but [R] is not correct explanation of [A].

e. Answer not known

“gal_ BLI QumBIlIenL6mLD” umBmiw &SLDAU(HLD FnBWISHH N6 H(HDHIP,

SeupPelmba Fllwmer allplu almLamwd Cafley CFuis.

ampul  [A]l: umgTepweEBE  Gwim Auler gl BU  GUTBINILTETS,  6TeIGleUT(H

SHONDDNHEDUD — QUTBIIUTSHSTH  DIDDFFTmAIUID 2 6T6em  HIEETAIENTULD

QUTBINIUTSGBBSI.

amyenid [R]: “gal B Quirmitiny” eleiug Siemw&siaeileaL G @msEs &HHmD

® (HOUTHGD DIWLOLInLIS &GN HSBSI.

w. [A] etetiug) o awiend [R] ereiiug seoum

b. [A] eeug seum [R] eemg &

c. [A] wmmwd [R] eep @pewigo &f, [R] eeug [A] &5 gflwrer
Q6N &LOM(ELD.

d. [A] wBpd [R] eem @yewiG o ewienn, oemmed [A] &@ [R] gflwmer
e BLOTHTHI.

B. alewL Gaflualsvensv

Which of the following statements are true about the Cabinet?
(i)  Cabinet system enforces responsibility of the executive to the
Legislation.
(i)  Cabinet consists of the Prime Minister and his/her senior ministers
with important portfolio
(iii) The head of the Cabinet is the Prime Minister

a. (i) only b. (i) and (ii) only c. (i) and (iii) only
d. (i), (ii) and (iii) e. Answer not known
SLDe(HeU6ITEUB M6 o151/ eTemal GaLieo_emL_& GNP HSI

©_GUTENIDWITEIGI/ 2 awTenLowITerenel?

(i) FLLISBSABG Biraurdselear  GuTpnimers Gsllen.  oenili]
UGBS SIS BSI-

(ii) Gaer eeug Lgso  wHAN  OBBID  WSSWDTST  HlEDBHEM6TD
CBTEWIL. (PSHSH DIMIDEFFTHM6NDH OBTERIL HTGLD.

(iii) s WHHM CaLIM 16T HenEVEUT SLEUTT.

a. (i) wl@w b. (i) w@pib (ii) Spslwer L GLd
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91.

92.

93.

c. (i) wbpid (iii) eydlwer L GO d. (i), (ii) B (iil) spduiene
e. allewl G flwailsenesv

Which of the following is not correctly paired?

a. Federal - Division of Powers between Union and States

b. Parliamentary form of Government - Followed in India

c. Parliamentary form of Government- Followed in UK

d. Cabinet Model - Possible only in federal countries

e. Answer not known

SLPSHHENILUBIEL 61FH HOUBTH EenenidhBLILIL (HeiTengl?

a. gl LT g — enww BmID THevkISErSSmLCu HHSTT LSlTa.
b. BTLTEHIEH (IpeB DFFTRIGD SbhSHwmalsd NeLBBrLbGeads)

C. BTLTEHLOGTS (LPemB SIFFTRISD - @midleonhdle0 LauBsluGeag
d. Gaslien. gemwiiy - gl Lm duled wl GG FTeHAwbd

e. allewL  Gafluailsvensv

To whom does the Election Commission submit, its annual report?

a. Lok Sabha b. Rajya Sabha c. Parliament of India

d. President of India e. Answer not known

CxpTaped LMWL — HOIEH  UBLIHHT BbmdmL  WT(HHG  Fimlss
Gouemi(BHLd?

a. &HH6IT FemLl b. wrpevsiser FenL

C. @pHHUl LIMJTEHLOGTNBLD d. @hHw GRUTSHSH HmevalT

e. alowL Gaflwealsdensv

Who was the first Deputy Prime Minister of India?

a. LK. Advani b. Morarji Desai c. Charan Singh
d. Sardar Vallabhbhai Patel e. Answer not known

@hHwimaler (pHeo Glevewt LIFSHLOT wmT?

a. LK. oigeuref b. Qummired Gghamul c. gyewt Jmi

d. g eusveoumut L GLed e. alewL O Mwaledeney

One of the following now is not a department of finance ministry:
a. Department of economic affairs

b. Department of expenditure

c. Department of revenue

d. Department of banking affairs

e. Answer not known

BF SmOFFEHH6 S DL DOUBTSH Hewm 617
a. QuUTHEMTHTT aleUSTIRIS6T HINB

b. Qseveiamiser Hiens

C. QU(HEUTU! SHIenD

d. aukidl®eT aleusTymiseT Hienm
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95.

96.

e. alewL Ozflwalsdensy

What will follow if a Money bill is substantially amended by the Rajya
Sabha?

a. The Lok Sabha may still proceed with the bill accepting or not accepting
the recommendations of the Rajya Sabha

The Lok Sabha cannot consider the Bill further

The Lok Sabha may send the Bill to Rajya Sabha for Reconsideration

The President may call a joint sitting

. Answer not known

grewiFemUulled Leor BFTHT SHHBHSLILLLT60 HL LIS 616316017

a. grw  Fevuuller  UfbFHENTHMET  IDHHETEME  GHBHEVTID.  DIGV6VSHI  JBHTLOGVILD
wGaFTHMeU GIGHTL J60TLD

wéHenemel BFTHTeme Geud LfFelds Bulsorg)

WéFHememel, WEFTHTeNeU LBILINFIMHHTES JTRUIFMHUSES DIGDILILIGOTLD
WOMHUSH Tl (B Gl LHIHBES DIMPSHEVTLD

alenL  OFflwealedenev

o A0 T

o0 o

Who is a pro-tem speaker in the Lok Sabha?

a. The first meeting after general election in which the speaker is elected
by the members of Lok Sabha, is held under the senior most member of
parliament is commonly known as pro-tem speaker.

b. A temporary speaker elected by the house when the speaker has taken
a leave of absence

c. The speaker elected by the house when both the speaker and the
Deputy speaker are absent.

d. The speaker who presides over a joint session of parliament.

e. Answer not known

D& HETmeIUNET 6Nl &BTeVF FLIMBTWST Wmy?

a. uTEHIHCHIHMGGL  LIBsTer  (Pp&He0  FmLLHH0  cpdHsd 2 mitiierfles
aufasT (BHeiled BLEGWL  Curgd  CaiTeed  cpeold o mIliNenaenTe0
CaiIhosBeHHILIBLD FLIMBTUWIS], BeLSBTEVF FUIMBTUIS] 6160T (B!
SIMPSBLILBESIBTT.

b. sumpTwsT alGupempuied BHBEGIEUTSH UTITEHOEH 2 M aTTE6nTed
SBE1e0sE FUTHTWST CHIHOHBHSLILBGH MBI

C. UMJTEHLOBIBSHSH  FUTBTWLSBD — HO6WIF  FUTHTWSMBL  Beveors  Curg
CaIhosBHBILIBLD FUTHTWIST

d. pTLTEHOSB gl Bd gl LSS BLSHSHID FUTHTUWISHT

e. alemL OFflwealedenev

In a two children family, find the probability that there is atleast one girl in

a family
a 3 b 1 C.
4 2

NI
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98.

99.

100.

101.

d.1 e. Answer not known
w6 GhmBHHaT 2 6el @B GOLUSID, GSOBHSSH Pb  CLEHTEITEIS
BOBUIUSBHTE HBIDSHH6]

a. E b. 1 C. 1
4 2 4
d.1 e. alenL GaMualsdeney

The difference between T.S.A and C.S.A of hemisphere is
SImIHCHTNHH T CTHSILTIIBGWD BBID  eumeTIUTILIBGHD el Cui S
Al HHWITFID

a. %ﬂRS b. %ﬂ'R3 c. 37° d. zr?

An aeroplane flies along the four sides of a square at the speeds of 100
km/hr, 200 km/hr, 300 km/hr and 400 km/hr. find average speed of the
plane around the field.

Q0 eloTeld @@ F&HIF urinier BrTaElE ubsmIBaled (peammGui 100 &8 /  wewf
200 &5 / wewll, 300 &5 / wewll wBmID 400 @S / wewll 6B Couss 60
UpSHBH 6lefled, HFFHTUTLILTID aloTenddler Fymgfl Geusld ereiien?

a. 96 km b. 192 km c. 288 km d. 128 km

The perimeter of a triangular plot is 600 m. If the sides are in the ratio 5: 12 :
13 then find the area of the plot.
a. 11000 sq.m. b. 14000 sq.m. c. 12000 sq.m.

d. 13000 sq.m. e. Answer not known

Qm (WdHCament eugealeorer Wemeiuller &mMmene 6005, DIHT LISSHIS6T 5:12:13
aeB allBHHHe0L o siTenedl eleled DbFH Loewertulledr LITLIL] HT6wIb.

a. 11000 &.16 b. 14000 &.6 c. 12000 &.165

d. 13000 &.18 e. allewL O flwalevenso

A bag contains 5 black balls, 4 white balls and 3 red balls. If a ball is selected

at random, the probability that it is not red is

Qm euuled 5 &y, 4 OeusTenem MWD 3 Feull] HIBL LHBHISHET 2 6iT6re.
goaumiiy  wpepulled  CaTbOsGHaILGL @b  ubsdl  Feuly  HBLTs
©6060TLAN(HLILISBEHTET HIBHLDHBH6.

a. > b. hd C. 3 d. 3

12 12 12 4

According to Article 85 (1) of the constitution of India, the Lok Sabha must
meet at least a minimum of how many times?

a. Three times each year with no more than four months between sessions.
b. At least one a year

c. Four times each year

d. Twice a year with not more than six months between sessions.
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103.

104.

e. Answer not known

F15a 85 (1) sSwdwevenioliierlg, Geomdbsur GmBHHH THHMT  (LPeDMm
Fnl_Gouewi(hLd?

a. QLemigBE@ cweipi(pensd BFeniG gl L SHOSTL(HHESG BHBHG BTG LOTHHIS6T
OBTID60 D(Hbd Geuemt(BLD.

SWYBS RHLPDD

QIOUT(H DLEWI(BHLD BT6IE (LPewm

. QWIYBEG BraiGemn @Il Sl LHOSTL(HhEG BB  DYBIDTHHIGE
OBTID6L B(hbd Geauemt(BLd

e. alewL OHflwealedensv

an o

When can the parliament in India make a law on a matter enumerated in

the ‘state list’?

a. When a joint sitting of Parliament passes a resolution to that effect.

b. When the Lok Sabha by a 2/3rds majority of members present and voting

passes a resolution saying that it is necessary or expedient in the national

interest

c. When both the Lok Sabha and the Rajya Sabha separately passes a

resolution that is necessary and expedient in the national interest.

d. When the Rajya Sabha passes a resolution supported by not less than

two-thirds of the members present and voting that such legislation is in the

national interest.

e. Answer not known

OTHlev ULIQuled @GBSHS FLLMSMm6N LITITEHLOGIBLD 611GUTEH SWIBB (LPIQULD,

a. UMImEhaiBHIHler gl BHaml Ls OCHTLMed 1BSHS STTIMISET HeDL (PenBEHE,
aU(mHLDBUTE).

b. Gordguralesr o minierm eevienibms 2/3 GuT eumasUfbhe SeuTseiL LD
uTH0aBLY  BLSHSULULB. DFH HFHwumeudlwuons (oevevg)  Capdlw
(PHBWSHSIAID UTUIHSSTS EHLILT6.

c. Cadlw (WasHwsHzeud aruhs CpemeudsE Geomdssum  WLBBID  FTEWIFLT
@IWIBL HelHHeIwTs STomerd BenpGaummLiLiBLD.

d. grwsur @SHHIMLILGS STOTRIHmS 2/3 UBIGHEG Sialdsd alhosUibhs
pUTHeMer cpeold CHAW (WeHFHWHFHUD auTUIhHS HHDHES DIMILDHSHH60.

e. alemL Ozfwalesensn

Who was called the father of the Lok Sabha by Nehru?

a. G.V. Mavalankar b. Rabi Ray c. Balram Jakhar
d. P.A Sangma e. Answer not known

Crmeured Geumdaumalel FHhHend 616N DlHPEBLILIL L 6UT?

a. LDTEUGVMBIGHIT b. 79 Gy C. LGOJMD $38ebiT
d. P.A. grior e. alewL Gafweilsvensy

Which one of the following parliamentary committees consist exclusively of
the members of the Lok Sabha?
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106.

a. The public accounts committee

b. The estimates committee

c. The committee of public undertaking

d. The committee on the welfare of scheduled castes and scheduled tribes
e. Answer not known

LeiTeu(hd  LITITEHLOIBS G (RSHH6MeD odbHenemel o mILILNeITHe 6 61600160015 6mH
aglev Lgs8uslones o eitengl?

a. QUTHIS HeNTHGHE LD

b. & Hée& g

C. QuUTgl BBIeUaTSE (1D

d. ulpuied grduilenm wBBID LPBRIGIQUIET BT GHHDH G

e. alewL Ozflwalsensn

Under Art 78 of the Indian constitution it is the duty of the Prime Minister
to

a. Communicate to the President all decisions of the council of Ministers

b. Communicate to the parliament all decisions of the council of Ministers

c. Communicate to the Supreme Court all decisions of the council of
Ministers

d. Communicate to the comptroller and Auditor general of India all
decisions of the council of Ministers

e. Answer not known

ObhHw  SPFweenolILE  FLLSHe T8-eugl  FIHIT  Sp UMl LFsLofe
&L eWITEF OFTevevlILIBAIS]

a. omFFTmLIET  DMBHH  (PYAFMETUID  GRUWTHSH — HMELU([HDHESHH
O flalgze0

b. simwFsFFmauULlsT DiNETHSB! (PIPa|HEMETUD LITITEHLOGBSHHBGSHS 0faldsHe0
C. SmwFFImaULIT  DIMETHH  (PYAFMETULD o FF  BHOAIBSHBHH
O flalgze0

d. owFsgmaiuicar SDATIHH (PRSI SbHuwid SHeuhSTWT  OBBID
HMEVMIDG FHewlbamBWITLLD GFTaldse0

e. alenL  GgMwealsdensv

The power of the President of India to issue an Ordinance is
a. Executive Power b. Legislative Power
c. Constituent Power d. Quasi-Judicial Power

e. Answer not known

@haHw  GuWrsEdh Hmevalfle Seusy FULD Uplis@lhd SFHSTID  eteu b
IHHMBWSHI?

a. PiTeuTsd DIFHSTIID b. g Ligfeu e sMyid

C. Qdlweuemioli] DIFHSMTLD d. oy pHEHsImI DIFHBTID

e. alewL Ozflwalsdensy
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108.

109.

110.

The president can promulgate ordinance:

a. When the Lok Sabha has been Dissolved

b. When Bill is passed by the Rajya Sabha

c. When both the houses of parliament are not in session

d. When there is conflict between two houses regarding a particular bill

e. Answer not known

GWTHSH Hmevalflal gy FULID LsLeliuBhaialsl,

DS BTN HENELSHBLILIBIEUITS.

ompHlevmisenenealuisd wCFTHT MedmGaummriLBld Gurg.

BTLTEHLOGIBHHE (H DMeUBEHLD Fnl TH GUTGHI.

e eiuilL  wésrsT CaTLIUTE Bk meuseled &HHH  GCrged
gBLBLGUTEI.

an o

Arrange the prime minister’s of India in chronological order.

. Lal Bahadur Shastri

2. Chandra Shekhar

3. VP Singh

4. Deve Gowda

5. Charan Singh

. Narasimha Rao

.1-5-3-2-6-4 b.1-3-5-6-2-4 c.3-1-5-2-6-4
1-3-5-2-4-6 e. Answer not known

a
d
@hHw ysiTsemer STevsuflengliLbBSHHIS
1. 60M6L USHMT Fmerogif
a
d

. VP dmi

4. Gxpeu GaerLm

. gJewr Sml

. [BJSIDID el

.1-5-3-2-6-4 b.1-3-5-6-2-4 c.3-1-5-2-6-4
1-3-5-2-4-6 e. alowL Gxfwaledeamev

1

6

2. gy Cosi

3

5

6

Who called the “Parliamentary System” as “cabinet system”?

a. AV Dicey b. Granville Austin c. Herbert Simon

d. Ivor Jennings e. Answer not known

BTLTEHLOGN (PeDB DJFTRISHMS DIMIDFFTMUSD G(UD (PeOB  DJFTHRISLD’
61601 IGMLDSHSHAUT  WITT.

a. AV L4 b. dyneiaied Syerdigest C. OamIuT’  MHEFLOGT
d. meut Omeraimied e. allen. G fluialsdensy

Who is the common chairperson of all the zonal councils?
a. Prime Minister b. Home Minister c. Cabinet Secretary
d. Chief Secretary e. Answer not known
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112.

113.

114.

SIMDHSH LWL 60& G (WSHHeilel CUTHISHHemeveuT wimr?
a. UggLoT b. 2 sigmimB SewwssT . CaIGRI. GFuleoT
d. smeveniod GFuleoT e. oL OHflwalevemsv

The zonal councils were established under which of the following?
a. Constitutional provisions b. Act of the Parliament

c. Executive resolution d. none of the above

e. Answer not known

LOGWITL_ 608 (& (LpSHSH6IT SHLDSHHEWIL aUBMI6 61H6T S Himleu I L 6or?

a. oFweveniori] ag &6l b. umyTEBLEE FLULID

C. BiTeuTas SHTLDTEILD d. CuBsewiL 61&HIa|LI60M6V

e. alowL Gaflwalsdensv

Which article of the Indian constitution authorises the president of India to
make rules for more convenient transaction of business of central
government and allocation of such business among the ministries?

a. Article 75 b. Article 76 c. Article 77

d. Article 79 e. Answer not known

SFweveniolier  ahSUINTaUY  GQUTdsHiSHBHmevalT LGB  DINDFFHHH MBS
uenilenwl @FHIGHH CFUILD DIHSTID CLmBIeTETTT?

a. FyHH 75 b. agsa 76 C. FyHH 77

d. s165 79 e. alewL Oaflwalevenso

Which one of the following sets of bills is presented to the Parliament along
with the budget?

a. Direct Taxes Bill and Indirect Taxes Bill

b. Contingency Bill and Appropriation Bill

c. Finance Bill and Appropriation Bill

d. Finance Bill and Contingency Bill

e. Answer not known

UTT@BLOIBSHSH60  aufe) GFevaylILl IQuIgL 681  SP&EHewIL  6bhdH  LGFTHTHBH6N 63
CaTEULD IBlpsILBGSHSILGLD?

a. Craps eufl 1WBsTaHT WBBID WedBLPS eufl WEFTHT

b. sBOFwed WBFTHT wWHBEID SHroTefdsiiu L wCFTHT

C. pg wGsmaT wWHmID o fluw grwrealsdsiu’ L wCFTHT

d. Mg wBsram wBBID HBEFWEL WBFTHT

e. alewL Gxflwalsdenev

The All India Whips conference is organized by:
a. Ministry of parliamentary affairs ~ b. Chief ministers of states

c. Speaker of Lok Sabha d. Vice-president of India

SIF0 @HHW CETBLT IBTE WTITed BLSSHUILGSBSHI?

a. UMJmEhLoes aleusTIhiseT $Hiens b. wrPevmisefllen (LpHeveniodFTaeit
C. Geurdaum FuMBTWIST d. @bFHus FHmeW GHQUITGHSH HENELEUT

40 | Page PH: 044 - 24339436, 42867555, 9840226187



115.

116.

117.

e. alowL Gaflwalsdensv

Consider the following statements

1. Forty second amendment made it obligatory for the president to exercise
his functions in accordance with the advice of the council of ministers

2. Forty third amendment act empowered the president to send back once
the advice of the cabinet for reconsideration.

a. Only 1 is correct b. Only 2 is correct

c. Both 1 and 2 is correct d. Both 1 and 2 is incorrect

e. Answer not known

SDHEWIL. FnBMBISHEN6T H6U6TNDHD.

. BIBUSSH BIWiLToud HHHHF FLLSHIH Peold DIMFFTN6U (G (LDel6or
O GeurFmILY  @GQUWISFSH HMLaT HAIGH  OFweOLThBmeNF  GFuiwl
GeuemTigUigl &L L TUILDT ) U|6ITETSI.

2. BIBUSS CLPGITBTOUG] HHHHF FLL SHIeor g, SIMLDEF FTeM6UUT 60T
a1 Beurgemeatenwt w@UfFevener OFUIL  GYUWTSHHHMEVMT DIMOFFTN6UDHE)
PG Yop S@IlL JHSMD Dieldsal

a.s@mm 1 w G i b. aa@m 2 w G g C. @yewiBo &

d. @rewiid Heuml e. alewL Oxflwealsvensy

Identify the incorrect statement about the speaker of the Lok Sabha
a. Speaker does not vote in the House except when there is an equality of
votes.
b. Speaker does not preside over joint sitting of both the house.
c. Speaker can resign by writing to the deputy speaker.
d. Speaker adjourns the house (or) suspends the meeting in the absence of a
quorum.
e. Answer not known
W&HeTmaIUla FUTHTWSST GHBIHS SBBIS6T60 SHUBTRINS &H6wIL155.
a. Smalulel UTHSHeL FBHMEL GBUBLD UM FUTHTWSHSITED 6UTHH6NHS
(PIQUITE.
b. 8® ozl agmliBG gmLdh BT HMevenD HTHIG (WIQUITHI.
C. SUMBTWSHST SHaIG UFHal alevded HYRHHMS SN  FLITHTUISSITL LD
GULDTBIG6UIT.
d. smauied @Gophs UL uBMS Beveurs GUTH el PHS)
MEUBHEVTLD DIGLEVGHI HIBISHFH meUdbs (LIQULD
e. alomL Oxflweledenev

Ninety first amendment act, 2003 made the total number of ministers
including  prime minister and the council of ministers shall not exceed.
a.20% b. 10% c.12% d. 15% e. Answer not known
OpTemigmmIB®l  e&mTeugk  FULID, 2003-a81 U  wHHenemalulear  OoTshg
o mifleniaeaiev LFsw whHFHMemwujd CFTha BFHT DIMLFFTHe6 616w eniHend
oT6leu6Ne) FHAHHIHME WSTLe0 B HdHae Geuewi(HLd?

a. 20% b. 10% c.12% d. 15% e. alenL QFHflwalsdensv
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118.

119.

120.

121.

Which is incorrect about the Features of the presidential form of
government?

a. The president is the real executive

b. The powers of the three organs are not separated

c. The tenure of the president is fixed

d. The president can be removed by the legislature only by a process of
impeachment

e. Answer not known

GwrsHsh Hmevalfler FplLbsmiseNed DI MSTHH 61517

GLWIsHSH HmevauBy o ewienlowiTer [HliTeuTd

PSIW SHMBH6M6TT DIHSTIHIS6T LIflSSULL ale0emn60

Glwrssd Hmevaufler LGHal HTeold HiTeorullbasliul L g

ugel BHHHF  CFweoumTdBseT  peold  WLBHOL  GRWISFSH  HEDELEUMIT
LIMJT@HLOGIBSH STV & (LPIQULD

e. alemL Gzfuwalsdenen

an o

Whose term is not fixed by the constitution?

a. The president of India

b. Comptroller and auditor general of India

c. Prime minister of India

d. Attorney general of India

e. Answer not known

&P 6IITL_6UTE GTH6IT WIT(HEML_ULI LUSHTBT60LD Sy FuwIevemnLoriL 60
BiTenrul & sLILL afledenev.

a. @bHU GQUWISHS HMEVEUT

b. @ sewbITUIO| WLBDBID Hewlldbmd oIS
C. @bgHwl Lo

d. @b HmevemID ULDEHBEHT

e. alewL Gxflwalsdenev

Under whose Prime Ministership, the 73rd constitutional amendment act,
1992 was passed?

a. Chandra Shekar b. VP Singh c. V. Narasimha Rao

d. HD Deve Gowda e. Answer not known

73-ug  SFweomolil] FULSHHSHWD 1992 60 6hFH LTSN  Henevemouled
BleBCaummpriLL L g?

a. spady Basi b. VP fmi c. V. mrdlibogmel

d. HD GseuGserLm e. allewL O flwalevemnso

Who acts as a guide, friend and philosopher of the public accounts
committee of the Parliament?

a. Comptroller and Auditor General of India

b. Attorney General
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122.

123.

124.

c. Chairman of Estimates Committee

d. Chairman of Public Accounts Committee

e. Answer not known

U IT@YhLOGHIB QUITFH15 B 6mT1hG) GIORIE [HEUOTLIT, &3S0 GhTeoT LOBmILD
QUPSTLIQUITS  &HLpLieuT wimiT?

BOhHHUI HEWeLEDID HETHEG (D) 56001 deNBUITEIIT

Sl LTl GlegeomyeL

LHIT B Gpaler Hemevau

CQUTHIS BHGHE GO HEnev6UT

alenL  OFflwealedenev

o an o

Which schedule of the constitution has provisions regarding
disqualification of members of parliament and state legislatures on the
ground of defection?

a. Tenth Schedule b. Ninth Schedule c. Eighth Schedule

d. Seventh Schedule e. Answer not known

SIFwevenolIied  6hSH DI L UueneIUTaIH S FGHBTaUe0  Henl (enB&Helet —Lig
LTJT@EHLOB WBDID WibHley FULWeB 2 mIiLleimsamen Ul BHeD Oguiub
SIDFMRIBEHL 60T OHTL LML WgH?

a. USHSTaUH DL L 6160657 b. @&LsTaSH DI L alenewt

C. GILLIMOUSI S| L 6)6M600T d. gumeugl I L alemewnt

e. alowL  Gaflwealsdensv

Which non-member can participate in the business of either house of the

parliament?
a. The Vice President b. The Solicitor General
c. The Attorney General d. The Chief Justice of India

e. Answer not known

LITIJIT(6THLOGITBE5 &5l 601 61 H0OleU (T Sien6uLLT 6ot BL_6UIQ SN HHEITGVILD SH6VbHI
CameTeNdanigul @ BIILN6IT60EVTHEUT WITiT?

a. el MMHLS b. Qemeddfl LT Gegeryed

C. Sl LiTel Oggemyed d. @b smeveno BHHLS

e. alowL G flwalsdensv

Which of the following committees considered as a Super cabinet?

a. The Political Affairs Committee b. The Economic Affairs Committee
c. Appointments Committee d. Parliamentary Affairs Committee
e. Answer not known

Wetteu(pd SO 19H6eMl60 @GLUUT Calilem elenid SHBLILIGUSH 6157

a. SIFWed aleusTIHISEHHBTE (G (LD

b. QuTmeTTHTY eUBTIHIBEHHHTERN (& (1D

C. BIWILDGIRIBEHEBTET (G (LD

d. ungTEBEB lOIBTIRIBEHHHTET G)(1D

e. alewL Gxflwailsbenev
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125.

126.

127.

Which is incorrect about the powers enjoyed by the Prime Minister?

a. He advises the President with regard to summoning and proroguing of
the sessions of the Parliament

b. He can recommend dissolution of the Lok Sabha to President at any time

c. He can recommend dissolution of the Rajya Sabha to President at any
time

d. He announces government policies on the floor of the House

e. Answer not known

Uy smhebsTan SIS STImISMmeNL OUTBIHSH HeUBTRIZH 6187

a. UTITEHLOAIBES &l LHMmS &Sl Lebd, BLlolumsl uBBlub - mamHudlsE
ufibgieny OFuleuriT.

b. memdugduiLid eILIOLIT(LR G BoueuT(BLOTEITEVILD D& FHEMENEUMLIG
smeolIuHmaTer UflbgHiengenul OFuwieur.
C. em&HuHuiL b GTLIOIT(DSI BeoueuT(HLOTETTEVILD JTeRwl FenLIGNUI

ool IuHmaTer UfbgHiengenus GFuleu.
d. gmauiled gFThIGSHaT CBTaTMBEHMNT SISO ILIGIT
e. alemL Oxflwalsdenso

Consider statements regarding advisory Jurisdiction (Article 143) of
supreme court.

I. President can refer supreme court on question of law of matters of public
importance

II. Advice tendered is not binding on president

correct statement is / are

a. I only b. IT only c. BothITand II

d. None of above e. Answer not known

Frda 143 e Fmpujeiien sHGHHev, aS&ifio CamTger oFsTD /  Spfelemy
SIDSHBHEWIL_UBMIGT 61FH CUT(HHSHID?

L. QuTI (PSS WSHSID QUTUIHS SflWmIB6 60, GQWIT 815 SHEN606UIT
o FFHFHIOABSFHLLD FLU L HCe0mgemen GILIBEOTLD

II. o sopadwas opfemy / pCOTFMRIGGD GQUWIdHiHHMeVaT &L BLILIL
Gouemiigul &L LTWILD E60en6ev

a.l w’ @ b. II w’ B c. I wpmp II

d. eze|fedensv e. alenL O flwelsdenso

Who described the parliamentary form of government as dictatorship of
cabinet?
a. Harold J. Laski b. Ramsay Muir c. Ivor Jennings

d. Munio e. Answer not known

UTIT@DBLOGIB  (LPeDB  DIJFTHISHMS DIMFFT Gpalel FTeUTHSMTILD 61601 (GMBLD
FMLIgUieuT wimfr?

a. Gamymeol” J. eumerdad b. gmb@s ewpuiit C. Mol OxgesTelmierD

d. apeiGuir e. oL OHflwalevamev
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128.

129.

130.

Assertion (A): Parliamentary form of government constitutes basic structure
of constitution

Reason (R): The Constituent assembly after considering USA and U.K both
the model has made an informed choice considering merits and demerits.

a. Both A and R are true and R explains A

b. Both A and R are true and R does not explain A

c. Ais true, R is false

d. A is false, R is true

e. Answer not known

FBml (A): LUTIT@HLOGIB  (WedB  SHIJFTRIGLD  SFFweosnwliieasr  SigliLienL
&L eDIOLIENL  DIeNIDSH BB

smyenid (R):  odweventoriy HlTemTuL FMLIWITETIH] |0 baT LOBMILD
OmSeonhs L F(wmB DB DTl WD (PaTmaISDHl, BHIHWTedHE 615
gMmEH OBBID @(H DIMWLILSTIET FTHE UTHSHISMeNULD o mllelTseT Heilg
yfibg Gameitens LLiQuied @ L 6.

a. (A) wppw (R) @yewipo sf, wppw (R) eaewug (A)-alBster alenssongLd
b. (A) wspd R) Grewibw &f wopw (R) easwg (A) aBster gfwmer
all6& &HLD6V60

c. (A) afl wppw (R) s

d. (A) seum wpmpw (R) &

e. alewL Gz flwailsbenev

Who quoted “The speaker becomes a symbol of Nation’s freedom and

liberty”?
a. Ambedkar b. K.M. Munshi c. Jawaharlal Nehru
d. G.V. Mavlankar e. Answer not known

“gunBTWST @b BTl SHHHID LBBIL  alGHemeouler  HereroTs
HBDHBIT’ BdIFaBBl WTHenLUWIGI?

a. 9IDBUGHBIT b. K.M. (psiiag C. MauamTeoTed Gm(H

d. G.V. weieommist e, el g fuwaledenso

Which institution is to protect the rights and interest of states like senate in
USA and when was it constituted?

a. Lok Sabha 17 April 1952 b. Rajya Sabha 3 April 1952

c. Lok Sabha 3 April 1952 d. Rajya Sabha 17 April 1952

e. Answer not known

oo fesTaleeren o Fioeises  GUpmeauliGuTey  OTHlevmIGeTe o flenogel
BB  [BEVIHMET  LTHISTHGHD Sewoli] 6% BB Seved  61IGUTg
o (HeUTSHBUILIL L 1?7

a. dbsenenal 17 griyed 1952 b. wrHevmiserenet 3 griyed 1952

C. Hemenal 3 gliyed 1952 d. wrBlevsisenenel 17 eriyed 1952

e. alewL Gxflwailsbenev
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131.

132.

133.

134.

The Number of members to be elected from each state to Rajya Sabha has
been fixed by which schedule of COI?
a. 7th Schedule b. 4th Schedule c. 11th Schedule

d. 11th & 12th Schedule e. Answer not known

Srrogw FutelB@  @aIoeuT(h  MHeVSHmHbHHID CHTHOBHBHSILL  Gauemrigul
©  mILILN6vTTT 61T 65T 6160016001 & 6 DI FLOLILT 651 Q113%:5 UL 19u16Sl6D &L b
CuBMIHBHBSHI?

a. 7-eugl UL 19uled b. 4-6usl L 19ui6eD C. 11-ouml UL 1Quled
d. 11 wBpd 12-6ug U i1Quied e. alen O fluelsbanso

Which house maintains the federal equilibrium by protecting the interests
of states against the undue interference of the centre?
a. Lower House b. Upper House c. Both Houses

d. None of the House e. Answer not known

SPHHEWIL  6hH SDmed Tl LM F HSHBHIUSHHGT  DIQLILIGHL UWITET  LOTHIEVHIH6NT 601
o fenodemen UTHISTHGID STeUVTH DHHU DTl DHBTT  Heneoui(Hasemern
SBBEMES!?

a. dpenel b. Gusvena C. B(H SIMEUBEIHLD

d. aimiayevensy e. alewL OHflwaievemsv

Assertion (A): Rajya Sabha cannot remove the council of minister by passing

a no confidence motion.

Reasoning (R): Council of Ministers are Individually and collectively

responsible to Lok Sabha.

a. A is correct, R is wrong

b. Both are correct and R is not the correct explanation of A.

c. Both are correct and R is the correct explanation of A

d. A is wrong, R is correct

e. Answer not known

gBml (A): 6bd @b DMDFF(HSEG CISHITHeD BIOLNEMBUN6060T STOTOHMD

LomHlevmiseTenel GLoBOIBTETEN (LPIQUITSI.

smyend(R): olmwssisel Guwansald seilulL (Wwenpuied wHemameusGs
EUITBILILIT6EITEUTEEIT.

gflwreteuBens Bsxitey OFUIs.

a. A sfl R sam

b. @yemibo af wpmd R eeug A-alBaren Fflwmer alendsoe060.

c. A oppid R s wppid R eeiugy A — alBarer sflwmer elendasiom@lb.

d. A seum R &

e. alowL Gaflwalsdensv

Which of the following committee Scrutinise the Appropriation Accounts of
state and Report of CAG (civil)?

a. Estimates committee b. Committee on Public undertakings

c. Public Accounts Committee  d. General purpose committee
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135.

136.

137.

138.

e. Answer not known

LOTHleVRIGENET RHIHSHBH HEWHGHMNMUID @OHHUI DIFid HMIHGHH H6wloHmdHsH
semevauflenr  (FHamT) SPfibmdsmWUD uie] OFuleugl HGupale (PoHBw
Uenflwm@Lb?

a. wHIILG & b. QuUTHISSHIDB  BBIe6TSE LD

C. OUTE SIS G5 G (D d. Qurg GETEGHHEH 1D

e. alewL Gxflwailsbenev

Prime Minister office is a

a. constitutional body b. extra constitutional body
c. Statutory body d. ceased to exists

e. Answer not known

Lrsoflen  $IeVI6U60EHID  6T6ITLIG,

a. 9Fmwoliied @UEIUULIUCL el

b. aygmwiled GEUILOULTS @T DHBM ewOWLD

C. FLLLIYTON SIGLOLIL]

d. eideuid @I (L aflevenev

e. alowL Gaflwealsdensv

Which is a constitutional right to reject a decision or a proposal made by a

law making body?
a. Veto b. Suspension c. discretionary
d. Assent e. Answer not known

FULOWBBIL DIEDLILTED 0BT BougLlill L SHTIOTEID  DIeV60SHI  (LPIgeM6al  [HHEGLD
SyFluweventoli] o flenio 6157

a. ef_GLm b.8emL BHsid C. Se&Tall(LILILD

d. @iysed e. alenL QHflwalsdensv

A charge of misconduct made against the holder of a public office?
a. Petition b. Disciplinary Action c. Disciplinary proceedings

d. Removal e. Answer not known

Spgmoli ugHaluled o 6ol QHUHES 6IHTTS  BILTEHLOGIBSHH60 OB TewI(H
uILIL(BLD SHTLOTeID?

a. Yo b. @upmigpens QFwiedH6I C. QMG [BL AU HENHEEIT
d. sewiLeng &STiomeid e. allewL O flwaievenso

The Prime Minister office is headed by?

a. Prime Minister b. Cabinet Minister c. Principal Secretary
d. Secretary e. Answer not known

LITSHLOT  DIVIUEVHSHSH6I  HEMELGUT WIMT?

a. ysLoT b. GaLI0@1. DMIDFFT  C. (IPHETEHLD GFUIGOT
d. Qzwevi e. allewL Oxflwalevemnso

47 | Page PH: 044 - 24339436, 42867555, 9840226187



139.  Which one of the following is not correct related to the distinctions between

the grants under Article 275 and Article 282 of the Constitution of India?

a. The grants-in-aid under Article 275 are statutory whereas under Article
282 they are discretionary

b. Under Article 282, the union has the power to provide grants-in-aid even
for non-plan expenditure

c. Under Article 275, the union has the right to give grants in accordance
with the decision taken on the basis of recommendation of Finance
Commission

d. Allocation of Grants under Article 282 is based on the recommendation
of Cabinet Committee

e. Answer not known

LedTeu(heuaieuBuIen 61hs @&Iml bl SFFweoenoli FUL algseTr 275 B@ib

282-a51 & UPEISLILGLD WwTelwmsehdd enL Cuiwmear GCoaumumGaeT CGHTLTUTS

Fgflwrer Q&M 9l6060?

a. alg 275-a1 &S, UPRSIUGL wWwTelw o el FULOUQWTeErsH. aild 282-61
i
mﬁ@&ﬂu@m@ allpliyfenowimergl

b. &l 282-a1 B, WHHW SPHESG HLD gmr CFealamibEhdbEGD el
2 gal PhIG HHSTID 266Nl

c. algl 275-e1 &, B opmewiwsHIler Ufbgenguler  Gufled 1Bl L
(W96 H6T6T DIQUILIGHL UT6D LOTENUIMIGHEMET  GMLDRIGHEOTLD

d. ol 282-a1 Fb SwwFFTm  GUpaler ufhHedIulesT  SiglileL uleib
LOT60T ULIMBIGB6N6NT  QULPMHIGBEVTLD

e. alemL Ozflwaledensn

140. If Parliament appoints a committee for a specific purpose, it is known as
a. Ad hoc committee b. Standing committee
c. The rules committee d. The public accounts committee
e. Answer not known

GBUILL CrprésshdBsTed UTTTEHLONIBSSHTE0 DIMDESLILIGLD G peNer GLuwiT
a. HBETISE G(1D b. Memevd &y Cc. gl (B G
d. Qurs samdhE G e. alenL O flwelsdenso
141. Which one of the following statement is not correctly matched?

a. Article 53 - deals with the Executive Authority of President

b. Article 54 - deals with the Election of the President

c. Article 55 - deals with the qualification of the President

d. Article 56 - deals with the Term of the President

e. Answer not known

LNeiTeu(hHeueTeUBMIGT 6Mhe UTHSIUID HeupTs EenewnrdbaslILL (BeTeng 61gl?

a. algl 53 - gemglugluler Hiteurs DHSTID LUBB FapISBSI.

b. alg 54 - mamAud) CHHOSBHSHILGID (WedB LUBPILISI

C. algl 55 - memgHugsular sGHHH6T1 LB SBISBS
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142.

143.

144.

145.

d. a8 56 - memduduiear usaild sreod WHBHBID UHaT allevssd LMWL
e. alewL Gxflwailsbenev

Either house of the Parliament is authorised to declare the seat of a member
vacant, who remains absent without permission from all the meetings of
that House for a period of

a. Sixty days b. Ninety days c. One hundred and twenty days
d. Six weeks e. Answer not known

BT &6/ &Te0ld, @b o muilem oeind S  @eobd  OBTeTenTDe
BHHITL HH B HmH SHTEOUILID Tt BTeni(h DIeNeUBEHD SHIMeNEEH60MLD.

a. 60 [T &eiT b. 90 B seit C. 120 ®BIL Heit
d. 6 eumgmisel e. oL OHflwalevemsv

Which Article of the Indian Constitution has given the President of India to
dissolve house of people?

a. Article 56 b. Article 61 c. Article 85

d. Article 92 e. Answer not known

LDEHSHETMEUMUI HMVHGHLD DHSMID DHHU WOMHUSHEEG 61hSH DIFFUIeemLOLIL]
alguflelr S SleMdsLUl L GI?

a. FlLOdfley 56 b. #'Linifey 61 c. gULfley 85

d. scodfley 92 e. alewL Osfuwalsdemnso

Who has announced that the House of people would thereafter be known as
“Lok Sabha” on 14 May 19547

a. G.V. Mavlankar b. Dr. S. Radhakrishnan c. Dr. Rajendra Prasad
d. Dr. B.R. Ambedkar e. Answer not known

14 G wwrHd 19540 oewih woHsenemel  @eaflGoed  “Geomdhgun”  ereiml
SIMPSBLILGLD 6TeT)l FamlweuT WTT?

a. ggl.all. LoT6ileUMmIGT b.Lm&LT S. QyreHralmagente

C.Lm&LT. @mBxbhaly ysmsd d.LrsLr B.R. @ubBugbasit

e. alowL Gaflwalsdensv

Who has the authority to decide a case of defection of party?
a. The speaker or chairperson of the concerned house

b. The party leader of the concerned house

c. The election commission of India

d. The party whip

e. Answer not known

& FhHTaued GPNHSH (WPROBHGD DISHSTID o eitemeu wimT?
a. FuUbSILLL DeneUUlel HMEVAT DIe0DEVGHI FLITBTUIST

b. sbubsiu’ L Semaulesd o 6tenm &l fdhHemevalT

C. @b BxTHe0 SLemeuoTUILD
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146.

147.

148.

149.

150.

151.

d. sl QsrmLr

e. alewL OFHflwealedensv

The volume of a tank is 168 m?, the length and height of a tank are 8 m and
7 m, then the breath of the tank is

a.6m b.12m c.3m d.9m

Qb BTISHOSHT 1guileT Harslene] 168 &.10. DIHeT [HEMD WWBHBID © Wiy (WpesGul
8 IS wBmIb 7 15 eefled GHTLIQUIET DIH6VLD 6T6lIaIeT6Y?

a.6m b.12m c.3m d.9m

A car travels 81 km in 3 hrs. Find the distance that can be traveled by the car
in 5 hrs at the same speed.

A. 27 km B. 135 km C. 153 km D. 125 km

Qm WwIHWHH 81 &b FHIIHmH 3 wewl CHIHHL SLSIaMH.  CH
Gousdhdlev WH(WPHEH OGFeveId GUTWEHI 5 wewll  GBIHIHe0 eleleusney HMTHMBHD
BLEHGLD 616015 SHITEM0ISb.

A.27 km B. 135 km C. 153 km D. 125 km

Calculate the area of a sector whose diameter and arc length are 30cm and
26cm respectively.

A.195sq.cm B.175sg.cm C. 165 sq.cm D. 185 sq.cm

el L 30 QF.15 aleveden Herd 26 GF.L5 Osmewi(heten eul L Gsmewrll L@ dule
UJLIL| STewTs.

A.195 5.65.6 B.175 5.05.16 C.165 5.6s5.16 D. 185 5.05.16

The median of the first 42 natural numbers is
(WPHeO 42 BUIeD 6TemTH6MeT ML HleNeD Di6Ta)]
A. 21 B. 21.25 C.215 D. 22

The radii of two right circular cylinders are in the ratio of 3 : 2 and their
heights are in the ratio 5 : 3. Find the ratio of their curved surface areas.
a.5:7 b.2:5 c.5:2 d.2:9

@reni® GCBT eu'L o (hewensellel umiseie aldsd 3 : 2 eeid.  Gguib
SluBBleT o wgmiseler el&Hd 5 0 3 eleled, SleuBmledT  eUEM6TLITLIL|BH6M 63
B HHMHH SHTEWIS.

a.5:7 b.2:5 c.5:2 d.2:9

Which of the following Article says that the council of states shall not be
subject to dissolution?

a. Article 83 b. Article 84 c. Article 90

d. Article 91 e. Answer not known

LeTau(heuaTauBmIe  6lhd  @ld  IOTHEVRIGETNA  HED6VSBLILL.  Fnl TH 616N
FBIFBH?

a. gl Léamml 83 b. gl Ldamm 84 C. LL&Imm 90

d. slLéamm 91 e. allewL Oxflwalevemnso
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152.

153.

154.

Which two committees have been set up to enable the financial business of
the Parliament?

A. The Business Advisory Committee

B. The Estimates Committee

C. Select Committee

D. The Public Accounts Committee

a. (A) and (B) b. (B) and (C) c. (B) and (D)

d. (C) and (D) e. Answer not known

b BTG (GHURSEHET UTITEHLOSIBSHST B FTihHs  alapumsEhdHHTH
SIMLDHBHLILIB S 60136017

A. afgH5s HBeoTFmer G B. waiipset @

C. Gpfeysd Gw D. Qurg sausds &g

a. (A) wipid (B) b. (B) wimid (C) c. (B) wimid (D)
d. (C) wmmib (D) e. alowL OFflweisvenev

91st constitutional amendment Act is associated with

a. Total number of Ministers, including Prime Minister in the centre
b. Total number of Ministers, excluding Prime Minister in the centre
c. Total number of Cabinet Ministers in the centre

d. Total number of State Ministers in the centre

e. Answer not known

91-6uz Slweoemiolil] HHHHEF FLLHHCTH OHTLTL DL WG

WwHHW DiewFFTemeuuliesn eremienlidamad (LTHD DENDFFFT 2 1 LIL)
LHFHW DiewFFTeneuuller eleuieniobmae (LITHL DiMWFFT CFTeHTLe0)
wHHW CaLiler DIMOFSTH6M60T 616001601 HmNH

GHFHUI LOTHI6V SIeNLOFFTH6IT6I 6165016001 H6eNDH

allewL  OFflwaledenso

P on o

Consider the following statements

1. The procedure for selection of prime minister is given in the constitution.

2. Article 75 says that only prime minister shall be appointed by the
president.

3. In case no party has majority, president may exercise his discretion in
appointing the prime minister.

a. All are correct b. 2, 3 are correct c. 3 alone is correct

d. 1, 3 are correct e. Answer not known

LeiTeU(HLD SnBMISeM6T  SLTTUIRLD.

1. Ly SLo6nT & GCaiThOHBLILISMBSTET HEDL_(LPenD SITFUI60emLOLILT6D
Q@BTHSHBUILIL (BT,

2. UgswT GO WemAHUSHWTed BUIOSSLILBIT 66l FTHH 75 FmBISBS.
3. 6bpd &L FHGWD CUIHDUTSIDD GeveoTd BUTH GYUTHSHHMEVMT HISHI
alluyflenwenwil LwsLGSHS LIpsHweny Bluidldaeorid.
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155.

156.

157.

a. SmaSHHID Fifl b. 2, 3, & Cc. 3 wi(p g

d. 1,3 sf e. oL OHflwalevemsv

Who is the guardian of public purse and controls the entire financial system
of the country at both the central and state levels?

a. Chairman of Finance commission

b. Comptroller and Auditor general

c. Finance Minister

d. Chairman of public accounts committee

e. Answer not known

WHH W LOBBID THED leTaled OUTHILILETSHSH T LTHISTEU6OT LOBBID (L) B
SiLnUUD S BHUUBSHSHILIGUT?

a. B GWw SHmevau b. smevenid Hewic@ LOBBID  FewTld:emHUIT6NT
C. Beweningai d. QuTg BeTHEGH GHUANET HE6EVEUT

e. alowL Gaflwealsdensv

Assertion (A): As surely as the hand of him who strikes the ground will not
fail.

Reason (R): Destruction will come upon him who regards anger as a good
thing.

a. A and R are true R is the correct explanation of A

b. A and R are true R is not the correct explanation of A

c. A true butR false

d. A false butR true

OO (A) : Bovdms @hd SIMBHIHUMIMLUL ™S SIGTBIIS 3 6uwTewnTLD
sryenib (R): ferdensll GLUThOTes OsTeniLoust Sifleugid & emtentld

a. (A) wppw (R) sM Gweud (R) eeiugs (A) @ sfwmer alenssom@Lb.

b. (A) wpmpw (R) s semed (R) esiug (A) &@ shwner alenssoe0sn

c. (A) sl spemed (R) seumi

d. (A) saup spemmed (R) &l

e. alomL Osfwaledenso

Which one of the following Kural is an example for Gandhi’s Satyagraha?
a. Though unprovoked thy soul malicious foes should sting,
Retaliation wrought inevitable woes will bring.
b. Whose soul has felt the bitter smart of wrong, how can
He wrongs inflict on ever-living soul of man?
c. Though malice work its worst, planning no ill return, to endure,
And work no ill, is fixed decree of men in spirit pure.
d. If, ere the noontide, you to others evil do,
Before the eventide will evil visit you.

e. Answer not known
Ueiteu(pld @BLLUTHS6M60 SMhHullel FoHHWTHTS CUTITL L HHBEG 2 SHTJewIoTs
SIMOaIFH! 61517
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158.

159.

160.

161.

162.

a. Geuiwmoed OFBBITEHGID EeTenmsd OFuISHL N6
o iwm allpwph H(HD

b. s&i@ulite@ gaiamenn SHTMlaTar 6erelsTGeor
aTeIUlTh@ 6T GFuien

C. BBISHHBOT CFUIHeUS SHEWIEID LOMIS D T
Qauiwmenio oramprT Gasmeir

d. Uprédeenm (pBused QFuiulen &Lod &6 e
Buse0 HTG  au(HLD

e. alewL OFHflwealedensv

Who told that Not killing is the way for Gurus?

a. Thiruvalluvar b. Vallalar c. Buddha
d. Mahavir e. Answer not known

Gameveor GEMIGW GHHeumeT OBl eTeTmI Fmpslwleu  wimT?

a. FHmeueimemelT b. eueiemeurit C. UdHT
d. wammeiyf d. elewL Gxflwalsbensv

Time, which shows itself (to the ignorant) as if it were something (real) is in
the estimation of the wise (only) a saw which cuts down life.
a. God of death b. Saw c. Poison

d. non curable disease
QUTDSMBEMW! — UITUIHSI 2 eolTeumengll  GUBMBTED, BT6T  6lILGH  @Uh  &HT6D

SleeyGumed  &mily, o ullewy o Liblellpbg Liflégn L1
9 6I6NG).
a. FaBBIeIeTTS b. eurenias C. alLiwrs

d. eeueuGmTwimes

How many types of attachments, help us to avoid congenital sufferings?
a.2 b.3 c. 4 d. 6

IHSHM  UMBWITERT  LIBBISH6T BBOouTCs oppemev LIpals HSILISHmS
PUHGLD?

a.2 b.3 c. 4 d. 6

They, who learned to know the True Being, enter the road which returns
not into this

a. death b. birth c. world

d. none of these e. Answer not known

aBs CeuswngweuBenmsd  smml, OGwuil  Gummenen o ewiThHeuT  Lewi (LD
AUMITSH eUlenu! iDL .

a. ®pUiBG b. UBiIBE C. 2 VBHIHMBG

d. @mea gaifevemen e. alen Ggfuiaisdenen

According to Valluvar, If anything be desired, should be
desired
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To attain the highest state of wealth

The world must come under its power
Freedom from births

To control the five manifestations of nature

. Answer not known

QHeUET SHaeUTpaled etens GCeuemigeaimed DiFl 6IHUTE BHbd Ceuewi(Ld 66t
SH(HeUGTEHEUT FnmISIBTT.

a. 2 wihg GFsveuplamevenut SienLuwl Geuewmi(BLD

b. 2 eald FeiT HBTTHHET Sp Uy CouewiBid

C. Umeaummplensvenut Sienl_ul Geuemi(hLd

d. uEhFUSBIBMET SILSHBWTEBHID 6U6L6VMID BauewT(BLD
e. alewL g flwalsdensv

°op o

163. Two different natures in the world, these are

1. wealth 2. Mendicancy

3. The Dread of Mendicancy 4. Knowledge

a.1,2 b.2,3 c.3,4 d.1,4 e. Answer not known
2 BHHGT BuleLl| 2amflet LTTenaUUTeL @Feni(h UMBLILILL & DDl WTenel?
1. QF6veu (Lpemm 2. @76y (LM

3. BreuFs(penm 4. 9nfle] (pe»Mm

a.1,2 b.2,3 c.3,4d.1,4 e. alenL GaMuwalseneo

164. Who is greater than doners and sages?

a. He who speaks the truth will full consenting mind
b. Learned people

c. King who saves his people

d. Family man

e. Answer not known

grend, Heubd GFuiGeumengail Geom@eori wimr?

a. aISESHTH euTulentd GILomILIeT b. seval @B
C. LDBBHMET HTHGHWD IS d. ®eveumpeurest

e. alewL Gxflwalsdenev

165.  Find out the apt Kural for the following proverb

Aatravun katrar arivudaiyar agdhudaiyar

Natrisaiyun selladha nadillai

a. The man who store of learning gains,
In one, through seven worlds, bliss attains.

b. The learned make each land their own, in every city find a home;
Who, till they die; learn nought, along what weary ways they roam!.

c. Their joy is joy of all the world, they see; thus more
The learners learn to love their cherished lore.

d. Learning is excellence of wealth that none destroy;
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166.

167.

168.

To man nought else affords reality of joy.

e. Answer not known

SLBBeYB SBBTT SiPleyenL WTT ). .SHIewL WITT

BTBRSenFUL|eh OF060TSH [HTY60EM6L

oTeim  LpGITY LML aid@ CQUThGHSHLOTET GMeiT 6157

a. QHELSHHENT HTIHBB Heval Q(HAUMBE
6I(LPGMLOULD GJLOMLI  LjeDL Sl

b. wWTSTEID BITLMTIDTED SETFTLOTED  6T6ITO\GIT(HEUGIT
FMHGHINEMIL|RI  &eV6VTSH 6UTH

Cc. Smial UBeugd o eudleal LmsHaemni(h
STWPGIeT SBBBIH ST

d. Gaziged alpFOFeaID Heval GUITIHMMBE
LDTL_606V LOM6NM  UIn6Y

e. alewL Oxfwalsoenso

Choose the correct statement
1. Those, who give way to excessive anger, are no better than dead men
2. He who destroys anger is likened to one who renounces all things
3. If a man never indulges anger in his heart, he will at once obtain
whatever he has thought of.

a. 3 only b.1,3 c. 2 only d.1,23 d. answer not known

gflwrer gnmBpismen BsiTe

1. deigglev Senaysl b OaammelT SmbHeuengll Gumermseui

2. feasma DHSHHUT 6T6060TL GLITHmeTWhH HIBHSTCITEG LILIT

3. saibarehdlearmed  CauGeflenws  Hevemwmemadled  HeveiHdH  [HETeNLDEHEN6IT
6T6L6VMLD (HMBIGH GILIMIeUTEIL.

a3 e b.1,3 c.2 wep d1,2,3 e. alowL Oxflwalevemed

Find out the figure of speech of the following Kural

O'er every evil-doer evil broodeth still;

He evil shuns who freedom seeks from: ill.

a. Simile b. Metaphor c. Alliteration

d. Hyperbole e. Answer not known
Gpmouisveomd GrTUIGFUIHTT Gsveurd GpHTUIGEFUIWLITT
Gpmuileieno Gouewt(® LeuT

Guomsramid @GHmeafed LulepiemD 6wl wWmg?

a. 2_euenLulef b. o mous Sienl

C. GerBoummeiT LlsTeu(hHeoTlenevutsu d. o wire) pelBdulemnd
e. alowL G flwalsdensv

Which one of the following is highest among all virtues according Valluvar?
a. Possession of Love b. Not Offending the Great ~ c. Not Killing

d. Energy e. Answer not known
DIBHIGB6T60 FMhHeH DIBLOTSH GUGTEHT FnBleudl 6157
a. 9IEIL6ML 6MLD b. QuAGWTeny LlenpuiTento C. G&meveVTENLD
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169.

170.

171.

d. easspenLemio e. allewL Oz flwalevenso

Choose the correct statements.

1. Coming to great wealth is like joining a crowd in theatres
2. Wealth Loss is like a movie over and the crowd disperses
3. There are many people in the world who have little knowledge, who

mistakenly think that those which does have material value are stable

a.2,3 b.1,3 c.1,2 d.1,23

SPHHTaID FnBmIseney FflwmerauBens CHiThOHBHBMLD

. Quilw Ogedeud eubd GCaTmhed HgwrmEGseled gnlLlb GCaFieumsll
Gureiimal.

2. Q&evoud BRIF BuTmHed HMIULULLD (PYHEH Sl LD Heneveuendll CUTETBSH

3. HEmeLUTELELTHENEUBEMEN  [HlEMELUITETENG 61601 OWIMIZS 2 eI(HLD  LjeLevsiey
2 _mLWeIT 2 60860 &levT 2 _6iT6TeT.

a.2,3 b.1,3 c.1,2 d.1,2,3

Find out the correct statements

1. To be altogether destitute is the proper condition of those who perform
austerities

2. If they possess anything, it will change (their resolution) and bring
them back to their confused state.

3. Those who are attempting to cut off (future) births, when even their
body is too much (for them).

4. Thinking of the body as I am and thinking of the unrelated object as
mine is delusional

a.1,3,4 b.1,2,3 c.1,2,4 d.1,23,4

gilwmer SaBBisenerr &3666“_@&5

1. geud CFuINSBE& @(h LMBBID @a}a}ng;‘?@g;g)eo BuieoLImGLd

2. UBBI 2 LWeITd BHHHev LewrBLD LOLIBIGUBBE Gu!ﬁu_m@w

3. L‘ﬂmmﬁ]g, glaLGHm GLTEbe @pu_la)aéﬂﬁmmmrras@ o LIb Llenswimer GUT(hHeT.

4. o | IbewU WM& 6leldh SHHIMID OFHTLTL E6060TSH CILITHENET 616G 616315
SHSNID  LOWISBLOTGLD.

a. 1,34 b.1,2,3 c.1,2,4 d.1,2,34

iruLnheengi inpam payakkum marulLnheengi

maasaRu kaatchi yavarkku

In this Kural the term marul means

a. agandhai b. mayakkam c. Aakkam

d. Thayakkam e. Answer not known

BHETHEIS @6TUD LWSHGD O(hHeTHRIS

orgm ST WelTdhG

B GHMeMed eUHD “LoHeT eTelil GlFmevevlest GUIT(HET wimg?

a. OIBHMS b. wuwidsd C. SHBID
d. swésd e. alemL Ozfuealsoensv
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172.

173.

174.

175.

What is the seed that causes the innate suffering that comes to all living
things at all times?

a. happy b. wealth c. ruling power

c. desire e. Answer not known

eT6LeuT 2 UITHEHSHGLD 1HITLHSHMID RLIWITOED aU(HBB LIpaldh HieTSHm
o WILTHGD aldHa 6157

a. @& b. Qgsveuld Cc. o d oFHBMIbD

d. syems e. alenL Oz fwalsoemsn

Choose the correct statements

1. Eventhough one has great knowledge fate is the deciding factor

2. Fate can prevent the accumulation of wealth in a good way

3.  Fate can help the accumulation of wealth in a bad way

a. 1 only b.2,3 c.1,3 d1,23 e. answer not known

SIpSHHMILauBmIeT Fhwmeaiend BHTho\%H[HoHHa|LD.

L. esfion  miewienifley  CUBBIBHSTEID  @EHATH  DiBleyBlensvenit  (LPIg6y
Cauleugl 261pHT6II.

2. oaprendl HeoauPluled GFedaud BFiTdHHmevd ©O\F[HSHHEVTLD

3. eaprengl SHaufluled OFeoeld FL(HAUSMBE HIENEIULDTHEUTLD

a.1 wl @G b.2,3 c.1,3d.1,2,3 e. aloL Oxfuwaledemsn

Who is considered as God for People?
a. The king who is easily accessible
b. The king who never uses harsh words
c. The king who guards the real justice
d. None of these
e. Answer not known
&HBL (G SLYGNTS STewilILBLeUT wimT?
a. &M dé@ elefluieue b. &G QFTed BuUIFTHEI6T
C. (B HaupToed op d Gauiueus  d. ereupLisben6L
e. alewL G flwalsdensv

The man who store of learning gains,

In one, through seven worlds, bliss attains

In this Kural the term “bliss attains” means

a. Long years b. Helpful c. Security

d. Seven lives e. Answer not known

QHELDSHHENT HTRIBBM SVl QHEUBSE

6I(LPGMLDU|LD GJLOMLIL| 2_6DL GG

®&G@mLUTaled ‘Gomii’ eTeTL 6T GUTHelT wimgl?

a. LUev STeulD b. 2 saiHe0 C. UTSHIHTLIL
d. g dpiy e. oL Oxflwelevamsv
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176.

177.

178.

179.

180.

Kalaignar Centenary super specialty hospital has been opened in

a. Chennai b. Madurai c. Tiruvarur
d. Coimbatore e. Answer not known

HMEVEHT HIMBTeRNIH © Wt FBLIL HHSHIUDMET 61hIF HBeHHULIL (HeTerng?
a. QFeene b. waieny C. Smaumern
d. GamuibLghgmi e. allewL  OFflwalevemsv

The only place in Tamil Nadu where evidence of Mesolithic tools have been
found is,
a. Agaram b. Keezhadi c. Vadakkupattu

d. Maaligaimedu e. Answer not known

SODBTL 960 DL HBMBHTVS  H(HAIBEHSHBTR  FTAIBIH6T  HlewLHHleTen oGy
@LIb

a. OIBJLD b. &ipig C. ULBGLIUL (B

d. wrefenas@od e. alenL Gxfwaisvenev

Amrit Generation campaign is launched by the ministry of
a. Rural Development

b. Agriculture and Farmers welfare

c. Women and Child Development

d. Railways

SIDfgH HMEL(LPOB BWISSLD 6leTamID (LPWBFlenuw! CHTLRISU6TEN DIHLOFFHLD
a. earys  Gobun(h

b. Gauenmewientd o@D efleuFTuUlSET HEVLD

C. CueT®6T OBEID GWhend Gobum®

d. &yulevGau

e. allewL g flualsvensv

The first ever National Centre for Earthquake Safety for Dams is to be
opened in
a. Jaipur b. Ahmedabad c. Gangtok

d. Cuttack e. Answer not known

(PFHeL  Sjememigeen sl uTgsTULIBETeEr Chdlw  enwowid  SHBoHaeULL ayeiTer
BL1b,

a. QquiliyT b. &swaTUTS . BzmILTS
d. sl Lrs e. allewL OFflwaievenso

Sulphur coated urea is called as,

a. Green Urea b. Nano Urea c. Urea Aqua Regia

d. Urea Gold e. Answer not known

gooum Yol L wflwm ereleurm SienpdbsliLBaSmasl?

a. ugemio  uyflwim b. Bt uwyfuwim c. wilwr oiseur OGysgwim
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181.

182.

183.

d. wilwr Gasmev(h e. allewL  OFflwaievemnso

Consider the following

Assertion (A): Indian Government has eliminated restriction on government
procurement of pulses

Reason (R):  The year 2023 is declared as the International year of pulses

a. Both (A) and (R)are true and (R) is the correct explanation of (A)

b. Both (A) and (R) are true and (R) is not the correct explanation of (A)

c. (A)is true but (R) is false

d. Both (A) and (R) are false

e. Answer not known

UeiteumeuemeuBens ouuish

apol (A): LU euenddeie ofs  OsTeTpsHe0  BaTer s GLUTEGSm6NT
BbPHw o& BeESl6ieng

argewd (R): 2023 oub ooy FTauBhad  UMBLL  UMDBH6T 6L TH
SlalbaluL (BHeTendi

(A) wppid (R) @yempn af. Cwaid (R) (A) alBg gflwmer alensson@Lb.
(A) wpgib (R) @yewid gfl. spemmed (R) (A) alBg gflwmer elendsiosvev.
(A) gfl spemmed (R) Heum

(A) wigd (R) @gewiGo sHeum!

alemL  OFflwialedened

o a0 o

The Indian institution that became a new member of Centralised laboratory
Network is,

a. Council of Scientific and Industrial Research

b. Indian Council of Medical Research

c. Indian Institute of Science

d. Department of Biotechnology

e. Answer not known

mWNILGSHSILL L Spuleus  aueneowamoliled LsHw o miiniemgrdluleren @balul
SIGMIDLIL

a. 9Pflallwed wBEID CHTHS DU16| 56 6T 60

b. 8pHuw HbHI HUIe| He|ETFE0

C. @hHw Snslaluwied BHinieeID

d. 2 ulfl GamPemI L Hiews

e. alenL  GgMwealsdensv

Identify the correct statements
1. India has become the newest partner in the US-led Mineral Security

Partnership(MSP)
2. MSP was created to control the procurement of Uranium
a.1only b. 2 only c. both1and 2
d. Neither 1 nor 2 e. Answer not known
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184.

185.

186.

187.

gflwrenr amBBIbHmend Bl 1Bl&H

1. owidsT Hamevenibuieomer  &eid  UTHISTIL  dal LTewieniouieo  (MSP),
@phHwm ypw o milengralulereng.

2. wByelwid GsmeT(phHemevd &L HLLGHHIMSBETE MSP 2 (haurdhsiiul L g

a. 1 B b.2 w @G c.1 wBpid 2 @yewi(Bd

d.1 wBp 2 GyewiGwsven e. el OFflwaisdamen

Tamil Nadu is about to become the Fintech capital of India by establishing a
Fintech city in
a. Kilambakkam b. Nandambakkam c. Ennore

d. Nungambakkam e. Answer not known

omiG .LSI0LS HBJD DEDLILSHET cpeold SHOWDHTE GpbHwmeler . .10 &
SHMEUBSTIOTH LOTM 2 _6iT6Ng)?

a. SPmbUTeéBLD b. BhaDLUTESEID C. GTEUTEITT

d. mRIsbUTSSID e. allewL O flwalevemnso

Lavender festival was recently celebrated in

a. Punjab b. Tamil Nadu c. Assam

d. Jammu and Kashmir e. Answer not known

FLUSHED eoTeUewILT SHl(HAIPT OBTewILTLLILLL  LOTH60D

a. UEhFLI b. s0pBT6G C. SIIEMLD
d. mbap sradbit e. alem Oz fluialedensv

India recently signed a strategic partnership agreement with which
country?

a. Egypt b. United States of America c. Maldives

d. Indonesia e. Answer not known

@bHwr  FUSH  abhs  BILGLET  pGeomumw Sl @LLbSHHSH6e0
mBOWRSHSHIL L &7

a. erdlg b. oGwi&asT C. LDTEVSHSH6BH6T
d. 8pCsmGendlwim e. allewL O flwaievenso
Match the following
A.MQ -9B 1. Android virus
B. Ex Khaan Quest 2. GAGAN
C. Daam 3. Sea Guardian Drones
D. Project Akash 4. Mongolia
A B

aan o
=N WA
N B WY

1
4
2
4

W W =
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188.

189.

190.

QuTHHHIH

A. MQ -9B 1. SLewTgImuiI[h eMeUFerd
B. aderd &mar GHOeuerOl 2. BHH6I
C. vLmb 3. &L6v UTHISTIL L Grmeniabeit
D. susmes SHLid 4. omIGaTedwiT
A B C D
a. 4 1 3 2
b.1 4 2 3
C. 3 2 1 4
d. 3 4 1 2

The 2025 International Institute of Administrative Sciences annual
conference is to be held in

a. New Delhi b. Kochi ¢. Dehradun

d. Ahmedabad e. Answer not known

sTauBss Mitaurs opfleaiwed Ppeuasser (IIAS) 2025&ub  suemiB  WIHTG
HewL_GLBeY6Tem &L 1D

a. ysl GLeved b. G&rsd c. GLym@edr

d. sswsTUTS e. alenL Oz flwealsdensn

Identify the correct statement about National Water Awards 2022

1. The top three states were Madhya Pradesh Haryana and Karnataka

2. Kadavur village in Karur is awarded first place in the best village
panchayat category

3. These awards were instituted by the Ministry of Jal Shakthi

a.1land 2 only b. 2 and 3 only c. 2 only

d.1and 3 only e. Answer not known

Cxdlw BT alpaiser 2023 G¥ss sflwmer BB BIBeN sentL Nl

1. Log,g%]u_l MyBxab, emflwmenT WLWBBID STHTLSLD LB LOTHEVRISET  (LHH6D
el G misemenll LgSger.

2. dphy FHImoll uehsTwHEH UMaleisl) Spflar SLeuT ST (PHeUL SHemaLl
Ulo Sl6Tens)

3. @b al(hHIH6T M0 F&HFH HMDFFSHHHTE0 HIBIGUILIL L 60T

a. 1 oBpid 2 wl B b. 2 wBpbd 3 1w Hb C. 2 L (B

d. 1 wBmid 3 w G e. alewL Oxflwalevenso

The novel “Aadhanin Bommai” was written by

a. Ram Thangam b. Ambai c. Udayasankar
d. P. Kalimuthu e. Answer not known

‘oLpHeier QUTDeMID’ 6T6eim  Hreuevles SLdlfluii

a. Jmb &SBIbID b. oubsmu C. 2_HUIGHIBT
d. u. asreflpsal e. allewL O flwalevenso
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191. Who has been appointed as the new chief of Research and Analysis Wing

(RAW)?
a. Ajit Doval b. Majoj Pande c. Ravi Sinha
d. Samant Goel e. Answer not known

pHwraier sypruiFd wppid uglutwel Ufelar (RAW) yghw semeveunrs
Bluwbléaliu LeuT wimr?

a. 9I1Mls Czmeusd b. wBemmey wumemGL c. gal deramm

d. suwhsd Csmuwed e alemL GQHflwalsdenso

192.  Which country has won the Junior Asia Cup Hockey 2023?

a. Pakistan b. Turkey c. India

d. China e. Answer not known

202380 Spemiges egrelwim opFlw Camleny amTéEslenw GCeuais BTh 61817
a. UT&erdgmest b. simsa c. ®hHwr

d. Feom e. alowL OHflwalevemev

193. Identify the rightly matched pairs based on India’s rank in the following
indices
1. Global Gender Gap Index - 127
2. World Competitiveness Index - 67
3. Energy Transition Index - 40
a. 1 only b. 1 and 3 only c. 2 only
d. All of these e. Answer not known
Uereumd GpBuibseiss  @nhgslwmalear  srauflengemwis  QuTpisSgH  Fhlwmest
B memIHem6Nd &L 151H
1. o eusenmalw uteler @l Oeuefld @HuiG — 127
2. 2 s BGuriysbaBer sraufleng — 67
3. ouBmed TBms GBuih — 40
a. 1 (B b. 1 wBpb 3 W FHb C. 2 LB
d. Bmal SDRIHHID e. allewL Oz flwaievenso

194. Who is called as the Father of Library Movement in Kerala?

a. B.S. Kesavan b. P.N. Panikkar c. S.R. Ranganathan
d. V. Ramanayya e. Answer not known

Cayeonmalel HMTVE BUISHHBHE HHMS 61N DIMPHSLILIBLGUT UWImT?

a. B.S. Gaaeuer b. P.N. uenléasi c. S.R. grispBTH6T

d. LV. gwewriwm e. allewL O flwaievenso

195. Match the following

A. World Day Against Child Labour 1. June 23
B. World Food Safety Day 2. June 7
C. International Olympic Day 3. June 12
D. World Oceans Day 4. June 8
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196.

197.

198.

199.

A B C D
a. 3 2 1 4
b. 3 1 4 2
C. 1 2 3 4
d. 2 4 1 3
CuUTHSHHIH
A. GUHMBHH QHTINTATHEHHE THITOT 2 605 6D 1. i1 23
B. 2 svs o ewiqy urgisETOL FHevrd 2. agreur 7
C. 185 @ediblid FHerd 3. egreit 12
D. 2 08 OQUBHRIBL VD6 FHeulld 4. ogreir 8
A B C D
a 3 2 1 4
b 3 1 4 2
C 1 2 3 4
d 2 4 1 3
If train travels 150 km in 5 hours, then its speed is
a. 150 km/hr b. 30 km/hr c. 50 km/hr d. 10 km/hr
@ Juled 5 wewll CoHIHHeL 150 SIS LwenlldHHTe, DiGent Gousld .
a. 150 km/hr b. 30 km/hr c. 50 km/hr d. 10 km/hr
A circular ground of radius 7 m has a path width 7m around it on its
outside. The area of the path is approximately equal to [7[ = %j
a. 154 sq.m b. 308 sq.m c. 462 sq.m d. 616 sq.m
7 16 SUIpeTen @hH UL elgel SHTarHemnd FBM Oeuaiypld 710 9iH608360
QUH LUTnS o 616Nl 6160 LTenguile UFLILIGT6) (ﬂ=§j
a. 154 g.8 b. 308 &#.6 C. 462 g.8 d. 616 5.6

What is the probability of drawing a king or a queen from a deck of 52
cards?

a.2/13 b.3/13 c.1/13 d.8/44

52 FLBaeT OamewiL @@ FLbSH SLIQeVHHEH BITST  DeLLH  BTmevo
CaxMbOHBLLSBHT HBLDHHE| 616316017

a.2/13 b.3/13 c.1/13 d.8/44

The side of a metallic cube is 12 cm. It is melted and formed into a cuboid
whose length and breadth are 18 cm and 16 cm respectively. Find the height
of the cuboid.

a.6cm b.7cm c.8cm d.10 cm e. Answer not known
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200.

® CouTHHITEL LT  QH SAFFHTHHAT LSS Sleey 12 QF.10. DigHenet
® hH&H 18 GF.15 membd wBmId 16 OF .15 SiEeLIPD 2 61Ten Q(F HIFOF6IISLD
© (HhUTSHSLILGHADBH. DbdH SMFOFMMBHHG 2 WITHnHH HTewIH

a. 6 Gg.1 b. 7 Gg.15 c. 8 Q.8

d. 10 G5 e. allewL Oxflwalevenso

A car travels 210 km in 3% hours. Then the time required to cover 60 km

with the same speed is

a. 30 minutes b.1hour «c. 1% hours d. 3 hours

Qb WLHWHH 210 HE HTSHMSD 3% el CBHyHae0 sLEGD. 96H

Goumpsglev 60 H.I6 Lewgd HLHH G CBHILD
a. 30 ML mickeit b. 1 wewil c. 1 % wenfl Gryd d. 3 wewl Gpyd
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